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1. #4ECBDF HBA84 BJ9ABKAOI ED98EF6 

1.1 "5M<9 CB?B:9A<S. 

(BA8 BJ9ABKAOI ED98EF6 CD98A4;A4K9A 8?S CDB69D>< D9;G?PF4FB6 BE6B9A<S 

8<EJ<C?<AO "�%1.03. �ABEFD4AAO= S;O> 6 CDBH9EE<BA4?PAB= 89SF9?PABEF< CDB7D4@@O 

CB87BFB6>< EC9J<4?<EFB6 ED98A97B ;69A4 CB EC9J<4?PABEF< 38.02.01. 1>BAB@<>4 < 

5GI74?F9DE><= GKTF (CB BFD4E?S@) 

("% 6>?RK49F BJ9ABKAO9 @4F9D<4?O 8?S CDB6989A<S F9>GM97B >BAFDB?S 

GEC9649@BEF<, CDB@9:GFBKAB= 4FF9EF4J<< 6 HBD@9 8<HH9D9AJ<DB64AAB7B ;4K9F4. 

�FB7B@ 8<HH9D9AJ<DB64AAB7B ;4K9F4 S6?S9FES BJ9A>4 6 54??4I:  

5 – «BF?<KAB»; 4 – «IBDBLB»; 3 – «G8B6?9F6BD<F9?PAB»; 2 – «A9G8B6?9F6BD<F9?PAB». 

("% CB;6B?S9F BJ9A<64FP GDB69AP BE6B9A<S ;A4A<= < G@9A<=, >B@C9F9AJ<= CB 

8<EJ<C?<A9. 

1.2 $9;G?PF4FO BE6B9A<S 8<EJ<C?<AO, CB8?9:4M<9 >BAFDB?R. 

$9;G?PF4FO B5GK9A<S (BE6B9AAO9 G@9A<S, 
;A4A<S, CD4>F<K9E><= BCOF) 

(BD@O < @9FB8O >BAFDB?S < BJ9A>< 
D9;G?PF4FB6 B5GK9A<S 

'@9FP:   

1. "5M4FPES (GEFAB < C<EP@9AAB) A4 
<ABEFD4AAB@ S;O>9 A4 CDBH9EE<BA4?PAO9 < 
CB6E98A96AO9 F9@O; 

- 8B@4LA99 ;484A<9 CDB5?9@AB7B 
I4D4>F9D4; 

- CD4>F<K9E><9 ;484A<S CB D45BF9 E 
<AHBD@4J<9=, 8B>G@9AF4@<, 
?<F9D4FGDB=; 

-;4M<F4 <A8<6<8G4?PAOI < 
7DGCCB6OI ;484A<= CDB9>FAB7B 
I4D4>F9D4. 

2. C9D96B8<FP (EB E?B64DT@) <ABEFD4AAO9 
F9>EFO CDBH9EE<BA4?PAB= A4CD46?9AABEF<; 
3. E4@BEFBSF9?PAB EB69DL9AEF6B64FP 
GEFAGR < C<EP@9AAGR D9KP; 
4. CBCB?ASFP E?B64DAO= ;4C4E. 

�A4FP:  

�9>E<K9E><= (1200-1400?9>E<K9E><I 
98<A<J) < 7D4@@4F<K9E><= @<A<@G@, 
A9B5IB8<@O= 8?S KF9A<S < C9D96B84 (EB 
E?B64DT@) <ABEFD4AAOI F9>EFB6 
CDBH9EE<BA4?PAB= A4CD46?9AABEF<. 

- FD48<J<BAA4S E<EF9@4 BF@9FB> 6 
54??4I ;4 >4:8GR 6OCB?A9AAGR 
D45BFG, A4 BEAB69 >BFBDOI 
6OEF46?S9FES <FB7B64S BF@9F>4; 

-@BA<FBD<A7 DBEF4 F6BDK9E>B= 
E4@BEFBSF9?PABEF< < A46O>B6 
CB?GK9A<S AB6B7B ;A4A<S >4:8O@ 
B5GK4RM<@ES. 

 

$9;G?PF4FO B5GK9A<S 
(BE6B9AAO9 "� < #�) 

"EAB6AO9 CB>4;4F9?< 
BJ9A>< D9;G?PF4F4 

(BD@O < @9FB8O 
>BAFDB?S < BJ9A>< 
D9;G?PF4FB6 B5GK9A<S (E 
CD<@9A9A<9@ 4>F<6AOI 
< <AF9D4>F<6AOI 
@9FB8B6) 
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"� 1. �O5<D4FP ECBEB5O 
D9L9A<S ;484K 
CDBH9EE<BA4?PAB= 
89SF9?PABEF< 
CD<@9A<F9?PAB > D4;?<KAO@ 
>BAF9>EF4@ 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 
6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S CDBH9EE<BA4?PAOI 
;484K E EB5?R89A<9@ 
F9IA<>< 59;BC4EABEF< < 
EB7?4EAB ;484AAB= E<FG4J<<. 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"�  2. �ECB?P;B64FP 
EB6D9@9AAO9 ED98EF64 
CB<E>4, 4A4?<;4  < 
<AF9DCD9F4J<< <AHBD@4J<< 
< <AHBD@4J<BAAO9 
F9IAB?B7<< 8?S 6OCB?A9A<S 
;484K CDBH9EE<BA4?PAB= 
89SF9?PABEF< 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 
6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S CDBH9EE<BA4?PAOI 
;484K E EB5?R89A<9@ 
F9IA<>< 59;BC4EABEF< < 
EB7?4EAB ;484AAB= E<FG4J<< 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 3. #?4A<DB64FP < 
D94?<;B6O64FP EB5EF69AAB9 
CDBH9EE<BA4?PAB9 < 
?<KABEFAB9 D4;6<F<9, 
CD98CD<A<@4F9?PE>GR 
89SF9?PABEFP 6 
CDBH9EE<BA4?PAB= EH9D9, 
<ECB?P;B64FP ;A4A<S CB 
H<A4AEB6B= 7D4@BFABEF< 6 
D4;?<KAOI :<;A9AAOI 
E<FG4J<SI 

 

- 89@BAEFD4J<S ECBEB5ABEF< 
CD<A<@4FP D9L9A<S 6 
A9EF4A84DFAOI < 
EF4A84DFAOI E<FG4J<SI < 
A9EF< ;4 A<I 
BF69FEF69AABEFP. 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 4. 1HH9>F<6AB 
6;4<@B89=EF6B64FP < 
D45BF4FP 6 >B??9>F<69 < 
>B@4A89 

- 4>F<6AB9 <ECB?P;B64A<9 6 
GK95AB= 89SF9?PABEF< 
<AHBD@4J<BAAOI < 
>B@@GA<>4J<BAAOI 
D9EGDEB6; 
- 7D4@BFAB9 D9L9A<9 
E<FG4J<BAAOI ;484K E 
CD<@9A9A<9@ 
CDBH9EE<BA4?PAOI G@9A<= 
< ;A4A<=. 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 9. #B?P;B64FPES 
CDBH9EE<BA4?PAB= 
8B>G@9AF4J<9= A4 
7BEG84DEF69AAB@ < 
<ABEFD4AAB@ S;O>4I. 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 
6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S CDBH9EE<BA4?PAOI 
;484K E EB5?R89A<9@ 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 
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#DB7D4@@4 6BEC<F4A<S 6 D45BK9= CDB7D4@@9 8<EJ<C?<AO BFD4:49FES K9D9; 

EB89D:4A<9 A4CD46?9A<= 6BEC<F4F9?PAB= D45BFO, D4;5<FOI A4 E?98GRM<9 6BEC<F4F9?PAO9 

@B8G?<: 

 B8G?< CDB7D4@@O 
6BEC<F4A<S 

%B89D:4A<9 @B8G?S CDB7D4@@O 6BEC<F4A<S 

 B8G?P 1 
«#DBH9EE<BA4?PAB-
?<KABEFAB9 6BEC<F4A<9» 

Ц9?P @B8G?S: EB;84A<9 GE?B6<= 8?S G8B6?9F6BD9A<S 
CBFD95ABEF9= B5GK4RM<IES 6 <AF9??9>FG4?PAB@, 
>G?PFGDAB@ < AD46EF69AAB@ D4;6<F<< 6 EH9D9 FDG8B6OI < 
EBJ<4?PAB-Q>BAB@<K9E><I BFABL9A<= CBED98EF6B@ 
CDBH9EE<BA4?PAB7B E4@BBCD989?9A<S. 
�484K< @B8G?S: 

 D4;6<F<9 B5M9EF69AAB= 4>F<6ABEF< B5GK4RM<IES, 
6BEC<F4A<9 6 A<I EB;A4F9?PAB7B BFABL9A<S > FDG8G < 
A4DB8AB@G 8BEFBSA<R; 

 HBD@<DB64A<9 G B5GK4RM<IES CBFD95ABEF< 
FDG8<FPES, 8B5DBEB69EFAB, BF69FEF69AAB < F6BDK9E>< 
BFABE<FPES > D4;AO@ 6<84@ FDG8B6B= 89SF9?PABEF<. 

 HBD@<DB64A<9 CDBH9EE<BA4?PAOI >B@C9F9AJ<=; 

 HBD@<DB64A<9 BEB;A4A<S CDBH9EE<BA4?PAB= 
<89AF<KABEF< (BEB;A4A<9 E6B9= CD<A48?9:ABEF< > 
BCD989?TAAB= CDBH9EE<< < CDBH9EE<BA4?PAB@G 
EBB5M9EF6G); 

 HBD@<DB64A<9 KG6EF64 EBJ<4?PAB-CDBH9EE<BA4?PAB= 
BF69FEF69AABEF<, GE6B9A<9 CDBH9EE<BA4?PAB-
QF<K9E><I ABD@; 

 BEB;A4AAO= 6O5BD 5G8GM97B CDBH9EE<BA4?PAB7B 
D4;6<F<S < 6B;@B:ABEF9= D94?<;4J<< EB5EF69AAOI 
:<;A9AAOI C?4AB6; 

 HBD@<DB64A<9 BFABL9A<S > CDBH9EE<BA4?PAB= 
89SF9?PABEF< >4> 6B;@B:ABEF< GK4EF<S 6 D9L9A<< 
?<KAOI, B5M9EF69AAOI, 7BEG84DEF69AAOI, 
B5M9A4J<BA4?PAOI CDB5?9@. 

 B8G?P 2 
 «�D4:84AE>B-
C4FD<BF<K9E>B9 
6BEC<F4A<9» 

Ц9?P @B8G?S: D4;6<F<9 ?<KABEF< B5GK4RM97BES A4 BEAB69 
HBD@<DB64A<S G B5GK4RM<IES KG6EF64 C4FD<BF<;@4, 
7D4:84AEF69AABEF<, G64:9A<S > C4@SF< ;4M<FA<>B6 
"F9K9EF64 < CB86<74@ �9DB96 "F9K9EF64, ;4>BAG < 
CD46BCBDS8>G. 
�484K< @B8G?S: 

 HBD@<DB64A<9 ;A4A<= B5GK4RM<IES B E<@6B?<>9 

F9IA<>< 59;BC4EABEF< < 
EB7?4EAB ;484AAB= E<FG4J<< 
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$BEE<<; 

 6BEC<F4A<9 G B5GK4RM<IES 7BFB6ABEF< > 
6OCB?A9A<R 7D4:84AE>B7B 8B?74 < >BAEF<FGJ<BAAOI 
B5S;4AABEF9= CB ;4M<F9 $B8<AO; 

 HBD@<DB64A<9 G B5GK4RM<IES C4FD<BF<K9E>B7B 
EB;A4A<S, KG6EF64 69DABEF< E6B9@G "F9K9EF6G; 

 D4;6<F<9 G B5GK4RM<IES G64:9A<S > C4@SF< 
;4M<FA<>B6 "F9K9EF64 < CB86<74@ �9DB96 "F9K9EF64, 
<EFBD<K9E><@ E<@6B?4@ < C4@SFA<>4@ "F9K9EF64; 

 HBD@<DB64A<9 DBEE<=E>B= 7D4:84AE>B= 
<89AF<KABEF<, 7D4:84AE>B= CB;<J<< 4>F<6AB7B < 
BF69FEF69AAB7B K?9A4 DBEE<=E>B7B B5M9EF64, 
BEB;A4RM97B E6B< >BAEF<FGJ<BAAO9 CD464 < 
B5S;4AABEF<, G64:4RM97B ;4>BA < CD46BCBDS8B>, 
B5?484RM97B KG6EF6B@ EB5EF69AAB7B 8BEFB<AEF64, 
BEB;A4AAB CD<A<@4RM97B FD48<J<BAAO9 
A4J<BA4?PAO9 < B5M9K9?B69K9E><9 7G@4A<EF<K9E><9 
< 89@B>D4F<K9E><9 J9AABEF<; 

 D4;6<F<9 CD46B6B= < CB?<F<K9E>B= >G?PFGDO 
B5GK4RM<IES, D4EL<D9A<9 >BAEFDG>F<6AB7B GK4EF<S 
6 CD<ASF<< D9L9A<=, ;4FD47<64RM<I <I CD464 < 
<AF9D9EO, 6 FB@ K<E?9 6 D4;?<KAOI HBD@4I 
B5M9EF69AAB= E4@BBD74A<;4J<<, E4@BGCD46?9A<S, 
B5M9EF69AAB ;A4K<@B= 89SF9?PABEF<; D4;6<F<9 6 
@B?B89:AB= ED989 BF69FEF69AABEF<, CD<AJ<CB6 
>B??9>F<6<;@4 < EBJ<4?PAB= EB?<84DABEF<; 

 HBD@<DB64A<9 CD<69D:9AABEF< <89S@ 
<AF9DA4J<BA4?<;@4, 8DG:5O, D469AEF64, 
6;4<@BCB@BM< A4DB8B6; 6BEC<F4A<9 G64:<F9?PAB7B 
BFABL9A<S > A4J<BA4?PAB@G 8BEFB<AEF6G ?R89=, <I 
KG6EF64@, D9?<7<B;AO@ G59:89A<S@; 

 HBD@<DB64A<9 GEF4AB6B> ?<KABEF<, CB;6B?SRM<I 
CDBF<6BEFBSFP <89B?B7<< Q>EFD9@<;@4, 
A4J<BA4?<;@4, >E9ABHB5<<, >BDDGCJ<<, 
8<E>D<@<A4J<< CB EBJ<4?PAO@, D9?<7<B;AO@, 
D4EB6O@, A4J<BA4?PAO@ CD<;A4>4@ < 8DG7<@ 
A974F<6AO@ EBJ<4?PAO@ S6?9A<S@; 

 HBD@<DB64A<9 4AF<>BDDGCJ<BAAB7B @<DB6B;;D9A<S. 

 B8G?P 3 «(<;<K9E>4S Ц9?P @B8G?S: HBD@<DB64A<9 G B5GK4RM<IES KG6EF64 
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>G?PFGD4 < 
;8BDB6P9E59D9:9A<9» 

59D9:AB7B BFABL9A<S > >G?PFGDAB@G A4E?98<R < 
FD48<J<S@ @AB7BA4J<BA4?PAB7B A4DB84 $BEE<<, >G?PFGDO 
;8BDB6PS, 59;BC4EAB7B CB6989A<S, EFD9@?9A<S > ;8BDB6B@G 
B5D4;G :<;A< < ;4ASF<S@ ECBDFB@, 6BEC<F4A<9 CE<I<K9E>< 
;8BDB6B=, H<;<K9E>< D4;6<FB= < EBJ<4?PAB-484CF<DB64AAB= 
?<KABEF<. 
�484K< @B8G?S: 

 HBD@<DB64A<9 ECBEB5ABEF< > 8GIB6AB@G D4;6<F<R, 
D94?<;4J<< F6BDK9E>B7B CBF9AJ<4?4 6 GK95AB=, 
CDBH9EE<BA4?PAB= 89SF9?PABEF< A4 BEAB69 
AD46EF69AAOI GEF4AB6B> < @BD4?PAOI ABD@, 
A9CD9DO6AB7B B5D4;B64A<S, E4@B6BEC<F4A<S < 
GA<69DE4?PAB= 8GIB6AB-AD46EF69AAB= >B@C9F9AJ<< - 
«EF4AB6<FPES ?GKL9»; 

 HBD@<DB64A<9 G B5GK4RM<IES BF69FEF69AAB7B 
BFABL9A<S > E6B9@G ;8BDB6PR < CBFD95ABEF< 6 
;8BDB6B@ B5D4;9 :<;A<, H<;<K9E>B@ 
E4@BEB69DL9AEF6B64A<<, ;4ASF<SI ECBDF<6AB-
B;8BDB6<F9?PAB= 89SF9?PABEFPR, D4;6<F<9 >G?PFGDO 
59;BC4EAB= :<;A989SF9?PABEF<, CDBH<?4>F<>G 
A4D>BF<K9E>B= < 4?>B7B?PAB= ;46<E<@BEF<, 
F454>B>GD9A<S < 8DG7<I 6D98AOI CD<6OK9>; 

 HBD@<DB64A<9 59D9:AB7B, BF69FEF69AAB7B < 
>B@C9F9AFAB7B BFABL9A<S > H<;<K9E>B@G < 
CE<IB?B7<K9E>B@G ;8BDB6PR - >4> EB5EF69AAB@G, F4> 
< 8DG7<I ?R89=, G@9A<9 B>4;O64FP C9D6GR CB@BMP, 
D4;6<F<9 >G?PFGDO ;8BDB6B7B C<F4A<S. 

 B8G?P 4 «�G?PFGDAB-
F6BDK9E>B9 6BEC<F4A<9» 
 

Ц9?P @B8G?S: EB;84A<9 GE?B6<= 8?S E4@BBCD989?9A<S < 
EBJ<4?<;4J<< B5GK4RM<IES A4 BEAB69 EBJ<B>G?PFGDAOI, 
8GIB6AB-AD46EF69AAOI J9AABEF9= < CD<ASFOI 6 DBEE<=E>B@ 
B5M9EF69 CD46<? < ABD@ CB6989A<S 6 <AF9D9E4I K9?B69>4, 
E9@P<, B5M9EF64 < 7BEG84DEF64, HBD@<DB64A<9 G 
B5GK4RM<IES G64:9A<S > EF4DL9@G CB>B?9A<R. 
�484K< @B8G?S: 

 6BEC<F4A<9 ;8BDB6B=, EK4EF?<6B=, E6B5B8AB= 
?<KABEF<, HBD@<DB64A<9 ECBEB5ABEF< EF46<FP J9?< < 
EFDB<FP :<;A9AAO9 C?4AO; 

 D94?<;4J<S B5GK4RM<@<ES CD4>F<> E4@BD4;6<F<S < 
E4@B6BEC<F4A<S 6 EBBF69FEF6<< E 
B5M9K9?B69K9E><@< J9AABEFS@< < <894?4@< 
7D4:84AE>B7B B5M9EF64; 

 HBD@<DB64A<9 CB;<F<6AOI :<;A9AAOI BD<9AF<DB6 < 
C?4AB6; 
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 HBD@<DB64A<9 G B5GK4RM<IES 7BFB6ABEF< < 
ECBEB5ABEF< > B5D4;B64A<R, 6 FB@ K<E?9 
E4@BB5D4;B64A<R, A4 CDBFS:9A<< 6E9= :<;A<; 
EB;A4F9?PAB9 BFABL9A<9 > A9CD9DO6AB@G 
B5D4;B64A<R >4> GE?B6<R GEC9LAB= 

CDBH9EE<BA4?PAB= < B5M9EF69AAB= 89SF9?PABEF<; 

 HBD@<DB64A<9 6OD4:9AAB= 6 CB6989A<< 
AD46EF69AAB= CB;<J<<, 6 FB@ K<E?9 ECBEB5ABEF< > 
EB;A4F9?PAB@G 6O5BDG 8B5D4, AD46EF69AAB7B 
EB;A4A<S < CB6989A<S A4 BEAB69 GE6B9A<S 
B5M9K9?B69K9E><I J9AABEF9= < AD46EF69AAOI KG6EF6 
(K9EF<, 8B?74, ECD4698?<6BEF<, @<?BE9D8<S < 
8DG:9?R5<S); 

 D4;6<F<9 >G?PFGDO @9:A4J<BA4?PAB7B B5M9A<S; 

 HBD@<DB64A<9 G64:<F9?PAB7B BFABL9A<S > 
DB8<F9?S@ < EF4DL9@G CB>B?9A<R 6 J9?B@, 
7BFB6ABEF< CBASFP <I CB;<J<R, CD<ASFP <I ;45BFG, 
7BFB6ABEF< 8B7B64D<64FPES E DB8<F9?S@< < K?9A4@< 
E9@P< 6 D9L9A<< 6BCDBEB6 6989A<S 8B@4LA97B 
IB;S=EF64, D4ECD989?9A<S E9@9=AOI B5S;4AABEF9=; 

 6BEC<F4A<9 BF69FEF69AAB7B BFABL9A<S > EB;84A<R < 
EBID4A9A<R E9@P< A4 BEAB69 BEB;A4AAB7B CD<ASF<S 
J9AABEF9= E9@9=AB= :<;A<; 

 HBD@<DB64A<9 FB?9D4AFAB7B EB;A4A<S < CB6989A<S 6 
CB?<>G?PFGDAB@ @<D9, 7BFB6ABEF< < ECBEB5ABEF< 
69EF< 8<4?B7 E 8DG7<@< ?R8P@<, 8BEF<74FP 6 A9@ 
6;4<@BCBA<@4A<S, A4IB8<FP B5M<9 J9?< < 
EBFDG8A<K4FP 8?S <I 8BEF<:9A<S. 

 B8G?P 5 «1>B?B7<K9E>B9 
6BEC<F4A<9» 
 

Ц9?P @B8G?S: HBD@<DB64A<9 G B5GK4RM<IES KG6EF64 
59D9:AB7B BFABL9A<S > :<6B= CD<DB89 < B>DG:4RM9= 
ED989, >G?PFGDAB@G A4E?98<R < FD48<J<S@ 
@AB7BA4J<BA4?PAB7B A4DB84 $BEE<<. 
�484K< @B8G?S: 

 D4;6<F<9 G B5GK4RM<IES Q>B?B7<K9E>B= >G?PFGDO, 
59D9:AB7B BFABL9A<S > DB8AB= ;9@?9, CD<DB8AO@ 
5B74FEF64@ $BEE<< < @<D4, CBA<@4A<9 6?<SA<S 
EBJ<4?PAB-Q>BAB@<K9E><I CDBJ9EEB6 A4 EBEFBSA<9 
CD<DB8AB= < EBJ<4?PAB= ED98O; 

 6BEC<F4A<9 KG6EF64 BF69FEF69AABEF< ;4 EBEFBSA<9 
CD<DB8AOI D9EGDEB6, HBD@<DB64A<9 G@9A<= < 
A46O>B6 D4;G@AB7B CD<DB8BCB?P;B64A<S, 
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A9F9DC<@B7B BFABL9A<S > 89=EF6<S@, CD<ABESM<@ 
6D98 Q>B?B7<<; CD<B5D9F9A<9 BCOF4 Q>B?B7B-
A4CD46?9AAB= 89SF9?PABEF<; 

 6BEC<F4A<9 QEF9F<K9E>B7B BFABL9A<S > @<DG, 
6>?RK4S QEF9F<>G 5OF4, A4GKAB7B < F9IA<K9E>B7B 
F6BDK9EF64, ECBDF4, B5M9EF69AAOI BFABL9A<=; 

 HBD@<DB64A<9 @<DB6B;;D9A<S, EBBF69FEF6GRM97B 
EB6D9@9AAB@G GDB6AR D4;6<F<S A4G>< < 
B5M9EF69AAB= CD4>F<><, BEAB64AAB7B A4 8<4?B79 
>G?PFGD, 4 F4>:9 A4 CD<;A4A<< D4;?<KAOI HBD@ 
B5M9EF69AAB7B EB;A4A<S, CD98CB?474RM97B 
BEB;A4A<9 E6B97B @9EF4 6 CB?<>G?PFGDAB@ @<D9; 

 HBD@<DB64A<9 KG6EF64 ?R56< > $B8<A9 A4 BEAB69 
<;GK9A<S >G?PFGDAB7B A4E?98<S < FD48<J<= 
@AB7BA4J<BA4?PAB7B A4DB84 $BEE<<. 

 

 

  1.3. %<EF9@4 >BAFDB?S < BJ9A>< BE6B9A<S CDB7D4@@O GK95AB= 8<EJ<C?<AO 

 

         �BAFDB?P >4K9EF64 BE6B9A<S GK95AB= 8<EJ<C?<AO 6>?RK49F 6 E95S F9>GM<= 

>BAFDB?P GEC9649@BEF< < CDB@9:GFBKAGR 4FF9EF4J<R. &9>GM<= >BAFDB?P GEC9649@BEF< < 

CDB@9:GFBKA4S 4FF9EF4J<S B5GK4RM<IES CDB6B8SFES 6 J9?SI GEF4AB6?9A<S EBBF69FEF6<S 

8BEF<:9A<= B5GK4RM<IES FD95B64A<S@ B5D4;B64F9?PAB= CDB7D4@@O > D9;G?PF4F4@ 

B5GK9A<S < HBD@<DB64A<S >B@C9F9AJ<=.  

(BD@B= CDB@9:GFBKAB= 4FF9EF4J<< CB GK95AB= 8<EJ<C?<A9 S6?S9FES 

8<HH9D9AJ<DB64AAO= ;4K9F, >BFBDO= CDB6B8<FES 6 HBD@9 F9EF<DB64A<S CB <;GK9AAO@ 

F9@4@. 

(BD@4@< F9>GM97B >BAFDB?S S6?SRFES 6OCB?A9A<9 BJ9ABKAOI ;484A<=, 

>BAFDB?PAOI D45BF. 

 

 

�D<F9D<< < L>4?O BJ9A<64A<S  
CD< CDB6989A<< F9>GM97B >BAFDB?S < CDB@9:GFBKAB= 4FF9EF4J<<: 

,>4?O BJ9A<64A<S �D<F9D<< BJ9A<64A<S 

«BF?<KAB» 

"5GK4RM<=ES CD46<?PAB BF69F<? A4 F9BD9F<K9E><9 < 
CD4>F<K9E><9  6BCDBEO. #B>4;4? BF?<KAO9 ;A4A<S 6 D4@>4I 
GK95AB7B @4F9D<4?4. #B>4;4? BF?<KAO9 G@9A<S < 6?489A<S 
A46O>4@< CD<@9A9A<S CB?GK9AAOI ;A4A<= < G@9A<= CD< 
6OCB?A9A<< GCD4:A9A<=, <AOI ;484A<=. "F69F<? A4 6E9 
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8BCB?A<F9?PAO9 6BCDBEO 

«IBDBLB» 

"5GK4RM<=ES E A95B?PL<@< A9FBKABEFS@< BF69F<? A4 
F9BD9F<K9E><9 6BCDBEO, CB>4;4? IBDBL<9 ;A4A<S 6 D4@>4I 
GK95AB7B @4F9D<4?4. �OCB?A<?  E A95B?PL<@< A9FBKABEFS@< 
CD4>F<K9E><9 ;484A<S. #B>4;4? IBDBL<9 G@9A<S < 6?489A<S 
A46O>4@< CD<@9A9A<S CB?GK9AAOI ;A4A<= < G@9A<= CD< 
B6?489A<< GK95AB7B @4F9D<4?4. "F69F<? A4 5B?PL<AEF6B 
8BCB?A<F9?PAOI 6BCDBEB6 

«G8B6?9F6BD<F9?PAB» 

"5GK4RM<=ES E EGM9EF69AAO@< A9FBKABEFS@< BF69F<? A4 
F9BD9F<K9E><9 6BCDBEO. #B>4;4? G8B6?9F6BD<F9?PAO9 ;A4A<S 6 
D4@>4I GK95AB7B @4F9D<4?4. % EGM9EF69AAO@< A9FBKABEFS@< 
6OCB?A<? CD4>F<K9E><9 ;484A<S. #B>4;4? G8B6?9F6BD<F9?PAO9  
G@9A<S < 6?489A<S A46O>4@< CD<@9A9A<S CB?GK9AAOI ;A4A<= < 
G@9A<= CD< B6?489A<< GK95AB7B @4F9D<4?4. �BCGEF<? @AB7B 
A9FBKABEF9= CD< BF69F9 A4 8BCB?A<F9?PAO9 6BCDBEO 

«A9G8B6?9F6BD<F9?PAB» 

"5GK4RM<=ES CD< BF69F9 A4 F9BD9F<K9E><9 6BCDBEO < CD< 
6OCB?A9A<< CD4>F<K9E><I ;484A<= CDB89@BAEFD<DB64? 
A98BEF4FBKAO= GDB69AP ;A4A<= < G@9A<= CD< D9L9A<< ;484K 6 
D4@>4I GK95AB7B @4F9D<4?4. #D< BF69F4I A4 8BCB?A<F9?PAO9 
6BCDBEO 5O?B 8BCGM9AB @AB:9EF6B A9CD46<?PAOI BF69FB6 

 

 

#DB7D4@@4 >BAFDB?PAB-BJ9ABKAOI @9DBCD<SF<= ;4 C9D<B8 <;GK9A<S CB 
8<EJ<C?<A9 

 

 

№ 

!4<@9AB64A<9 
>BAFDB?PAB-
BJ9ABKAB7B 
@9DBCD<SF<S 

"5N9>F >BAFDB?S 
(F9@4 />B@C9F9AJ<<, @B8G?< CDB7D4@@O 

6BEC<F4A<S) 

!4<@9AB64A<9 
BJ9ABKAB7B 
ED98EF64 

(HBD@4 CDB6989A<S) 

1.1 
&9>GM<= 
>BAFDB?P &9@4: «"5D4;B64A<9» 

"�-1 

 B8G?P 
1,4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (GEFAB) 

1.2 
&9>GM<= 
>BAFDB?P 

&9@4: «�4M<F4 B>DG:4RM9= 
ED98O» 

"�-2 "�-4 

 B8G?P 
1,5 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.3 
&9>GM<= 
>BAFDB?P &9@4: «%D98EF64 >B@@GA<>4J<<» 

"�-3 

 B8G?P 1, 
4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.4 
&9>GM<= 
>BAFDB?P &9@4: «�9?<>B5D<F4A<S» 

"�-3 

"�-4 

"�-9 

 B8G?P 1, 
4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.5 
&9>GM<= 
>BAFDB?P &9@4: «�9?B6B9 B5M9A<9» "�-3 "�-4 

 B8G?P 1 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (D45BF4 6 
7DGCC4I) 
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1.6 
&9>GM<= 
>BAFDB?P &9@4: «1>BAB@<>4» 

" 

�-1, "�-3 

"�-9 

 B8G?P 
1,4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB)  

1.7 
&9>GM<= 
>BAFDB?P &9@4: « 9A98:@9AF» "�-1 "�-9 

 B8G?P 1 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 
  

1.8 
&9>GM<= 
>BAFDB?P &9@4: «�GI74?F9DE><= GK9F» 

"�-2 "�-4 

 B8G?P 
1,4 

!4C<E4A<9  E?B64DAB7B 
8<>F4AF4 A4 
<ECB?P;B64A<9 
>B@CPRF9DAB= ?9>E<><. 

1.9 
&9>GM<= 
>BAFDB?P &9@4: « BS 5G8GM4S CDBH9EE<S» 

"�-2 

"�-9 

 B8G?P 
1,4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.10 
&9>GM<= 
>BAFDB?P 

&9@4: «�BDCBD4F<6AB9 
H<A4AE<DB64A<9» 

"�-2 "�-9 

 B8G?P 1, 
3, 4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.11 
&9>GM<= 
>BAFDB?P &9@4:  «'EFDB=EF6B A4 D45BFG» 

"� 2 
"� 4 

 B8G?P 1, 
4,5 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

2.1 
#DB@9:GFBKA4S 
4FF9EF4J<S 

$4;89?O 8<EJ<C?<AO "�%1.03. 
�ABEFD4AAO= S;O> (2 >GDE, 3-4 

E9@9EFDO) 

"�-1- 

"�-9 

 B8G?P 
1,3,4 

�OCB?A9A<9 
>BAFDB?PAB7B F9EFB6B7B 
;484A<S (C<EP@9AAB) 
�<HH9D9AJ<DB64AAO= 
;4KTF 

2.2 
#DB@9:GFBKA4S 
4FF9EF4J<S 

$4;89?O 8<EJ<C?<AO "�%1.03. 
�ABEFD4AAO= S;O> (3 >GDE, 5-6 

E9@9EFDO) 

"�- 1 – 
"�-9 

 B8G?P 
1,3,4 

�OCB?A9A<9 
>BAFDB?PAB7B F9EFB6B7B 
;484A<S (C<EP@9AAB) 
�<HH9D9AJ<DB64AAO= 
;4KTF 
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2. "C<E4A<9 CB>4;4F9?9= < >D<F9D<96 BJ9A<64A<S, BC<E4A<9 L>4? BJ9A<64A<S 

 

�BAFDB?P >4K9EF64 BE6B9A<S 8<EJ<C?<AO 6>?RK49F 6 E95S F9>GM<= >BAFDB?P 
GEC9649@BEF< < CDB@9:GFBKAGR 4FF9EF4J<R. &9>GM<= >BAFDB?P GEC9649@BEF< < 
CDB@9:GFBKA4S 4FF9EF4J<S CDB6B8SFES 6 J9?SI GEF4AB6?9A<S EBBF69FEF6<S 8BEF<:9A<= 
B5GK4RM<IES FD95B64A<S@ B5D4;B64F9?PAB= CDB7D4@@O > D9;G?PF4F4@ B5GK9A<S < 
HBD@<DB64A<S >B@C9F9AJ<=. 
$9;G?PF4FO BJ9A<64A<S F9>GM97B >BAFDB?S ;4ABESFES CD9CB8464F9?9@ 6 :GDA4? < @B7GF 
GK<FO64FPES CD< CDB6989A<< CDB@9:GFBKAB= 4FF9EF4J<<. 
�?S BJ9A<64A<S D9;G?PF4FB6 B5GK9A<S <ECB?P;G9FES K9FODTI54?PA4S L>4?4: «BF?<KAB», 
«IBDBLB», «G8B6?9F6BD<F9?PAB», «A9G8B6?9F6BD<F9?PAB». 
#9D9K9AP BJ9ABKAOI ED98EF6  CD98EF46?9A 6 A<:9E?98GRM9= F45?<J9.  
 

 

                              #9D9K9AP BJ9ABKAOI ED98EF6 
 

№ !4<@9AB64A<9 
HBA8B6 BJ9ABKAOI 
ED98EF6 

�D4F>4S I4D4>F9D<EF<>4 HBA8B6 
BJ9ABKAOI ED98EF6 

#D98EF46?9A<9 
HBA8B6 BJ9ABKAOI 
@4F9D<4?B6 6 ("% 

                                  &9>GM<= >BAFDB?P GEC9649@BEF< 

1. �OCB?A9A<9 
>BAFDB?PAOI 
;484A<= CB 
BE6B9AAB= F9@9 

%D98EF6B 8?S CDB69D>< G@9A<= 
CD<@9ASFP CB?GK9AAO9 ;A4A<S CB 
BE6B9AAB= F9@9 8<EJ<C?<AO. 
$9>B@9A8G9FES 8?S BJ9A>< ;A4A<=, 
G@9A<= < 6?489A<= B5GK4RM<IES. 

�484A<S CB F9@4@ 
8<EJ<C?<AO. 

2. �BAFDB?PA4S D45BF4 
6 HBD@9 F9EF4  (&9EF) 

%D98EF6B 8?S CDB69D>< ?9>E<K9E>B7B < 
7D4@@4F<K9E>B7B @<A<@G@4, 
A9B5IB8<@B7B 8?S KF9A<S < C9D96B84 
<ABEFD4AAOI F9>EFB6 
CDBH9EE<BA4?PAB= A4CD46?9AABEF<. 
$9>B@9A8G9FES 8?S BJ9A>< ;A4A<=, 
G@9A<= < 6?489A<= B5GK4RM<IES. 

�BAFDB?PAO9 
(F9EFB6O9) ;484A<S 
CB F9@4@ 
8<EJ<C?<AO 

3. �<>F4AF %D98EF6B 8?S CDB69D>< G@9A<S 
B5M4FPES C<EP@9AAB A4 <ABEFD4AAB@ 
S;O>9 A4 CDBH9EE<BA4?PAO9 < 
CB6E98A96AO9 F9@O, E4@BEFBSF9?PAB 
EB69DL9AEF6B64FP C<EP@9AAGR D9KP, 
CBCB?ASFP E?B64DAO= ;4C4E. 
$9>B@9A8G9FES 8?S BJ9A>< ;A4A<=, 
G@9A<= < 6?489A<= B5GK4RM<IES. 

&9>EFO 8<>F4AFB6 

                                         #DB@9:GFBKA4S 4FF9EF4J<S 
4. �4KTF %D98EF6B, CB;6B?SRM99 BJ9A<FP 

;A4A<S, G@9A<S < 6?489A<S 
B5GK4RM97BES CB 8<EJ<C?<A9. 
$9>B@9A8G9FES 8?S BJ9A>< ;A4A<=, 
G@9A<= < 6?489A<= A46O>4@< 
B5GK4RM<IES.. 

&9EFB6O9 ;484A<S > 
;4KTFG. 
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3. (BA8O BJ9ABKAOI ED98EF6 8?S F9>GM97B >BAFDB?S  

 

&9@4 1.1 : « "5D4;B64A<9» 
 

ВOCB?A9A<9 BJ9ABKAB7B ;484A<S (GEFAB) 

 

Read the sentences, point out the Continuous Tenses. Give the Russian equivalents. 

#DBK<F4=F9 CD98?B:9A<S, BCD989?<F9 6D9@9A4 7DGCCO Continuous. �4=F9 
DGEE><9 Q>6<64?9AFO. 

 

1. We use this scheme when we are discussing the problem.  

2. Now he is sitting at the lesson. 

3. These learners are working now at about the same speed as their classmates. 

4. At 10 o’clock tomorrow he will be taking the exam. 
5. He is watching TV at the moment. 

6. Primary school pupils are being taught such skills as reading, writing, and arithmetic. 

7. They were receiving instructions in different subjects the whole month. 

8. At the moment the pictures are being described by the pupils. 

9. He was visiting the museum from 4 till 6 o’clock yesterday. 
10. The classes are being attended by the students all the term. 

 

Compare Russian system of education with Britain’s and the USA’s system of 

education. %D46A<F9 E<EF9@G B5D4;B64A<S $BEE<< < �A7?<< <?< $BEE<< < %,�. 
 
&9@4 1.2 «�4M<F4 B>DG:4RM9= ED98O» 
 

ВOCB?A9A<9 BJ9ABKAB7B ;484A<S (C<EP@9AAB) 
 

Continue the following statements. 

#DB8B?:<F9 E?98GRM<9 GF69D:89A<S 
 

1. The forest protects the Earth from erosion &&.. . 
2. Under the branches of higher trees, there are &&.. . 
3. When man breathes, he &&& . 
4. During the photosynthesis &&& . 
5. In his activity, man needed timber &&&.. . 
6. Recently scientists have found out that ecological crises &&& 

7. If the forest is destroyed because of commercial interests &&.. . 
8. Our country protects forests: in 1942 &&& 

9. Because of people forest fires take place, and if will take &&. 
10. Only if we take care of Earth &&&.  

 

 

Explain the following definitions using your active vocabulary of this topic. 

"5NSEA<F9 E?98GRM<9 89H<A<J<< <ECB?P;GS 4>F<6AO= 6B>45G?SD CB 
4A7?<=E><=: (6OCB?AS9FES GEFAB) 

1. pollution  

2. water shortage 

3. environment 

4. ecology 

5. air pollution 

6. natural resources 
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7. destruction 

8. nuclear waste 

9. littering 

10. garbage 

11. greenhouse effect 

12. global warming 

 

 

  

&9@4 1.3. « %D98EF64 >B@@GA<>4J<<» 
 

ВOCB?A9A<9 BJ9ABKAB7B ;484A<S (C<EP@9AAB) 
 

Make a sentence out of the two parts. 

%BEF46PF9 CD98?B:9A<S. 
 

1. The first black-and-white nine-by-

by-twelve inch TV sets 

2. In a surprisingly short time 

 

 

3. At present 

 

4. Satellite and cable TV make it 

possible 

5. Recently black-and-white TV 
 

 

6. The next major advance in  
 

 

7. The invention of high definition 

television with a picture resembling a 

wide screen film 

1. has been replaced by colour 

television  

2. the development of TV became 

digital television in which the usual 

signal is replaced by a digital code. 

3. were of historical importance in 

1939 

4. television has had great influence 

on people’s life and way of thinking 
5. is the most important stage in the 

development of TV since the 

appearance of colour television 

6. to watch TV programs in different 

parts of the country and throughout 

the world 

7. there are different kinds of 

television systems: satellite, cable, 

colour, pocket-size, digital, high-

definitional television 

 

Explain the following definitions using your active vocabulary of this topic. 

"5NSEA<F9 E?98GRM<9 89H<A<J<< <ECB?P;GS 4>F<6AO= 6B>45G?SD CB 
4A7?<=E><=: (6OCB?AS9FES GEFAB) 

1. hardware 

2. system board 

3. mouse 

4. driver 

5. software 

6. character 

 

 

&9@4 1.4  «�9?<>B5D<F4A<S» 
 

�OCB?A9A<9 BJ9ABKAB7B ;484A<S (C<EP@9AAB). 

1. �9D9698<F9 A4 4A7?<=E><= S;O> < 84=F9 BCD989?9A<9 B8AB@G <; 6O89?9AAOI E?B6 



 16 

CD<5O?P, 4>F<6O, C4EE<6O, BJ9A<64FP, EEG84, BFKTF, B5S;4F9?PEF6B  

2. �9D9698<F9 A4 DGEE><= S;O> 

loss, to earn, transaction, cash, current, long-term, to purchase 

3. �ECD46PF9 BL<5>G 6 CD98?B:9A<<. 

1. Unfortunately, the word capital are used in many ways. 

2. Assets falls into two groups. These are: fixed assets and current assets. 

3. The raw materials are turn into finished goods. 

2.Managers shall be primarily concerned with two accounting documents- the balance 

sheet and the profit and loss account. 

4. �9D9698<F9 A4 DGEE><= S;O> 

1. The day-to-day transaction are met by specific parts of the accounting system. 

2. From the ledger, the balances of some accounts are transferred to the trading and profit 

and loss accounts, which shows the profit for the year. 

        3. Management means the planning, controlling, directing and coordinating of various 

ideas, activities and programmes in order to achieve a stated objective.  

5. ВEF46PF9 CB8IB8SM<= @B84?PAO= 7?47B? <; EC<E>4: 

can, won’t be able to, may, have to, must, will be allowed to, may not, had to, to be able to, 

were allowed to, might 

1. Children&&..be careful when crossing the street. 

2. You&&..speak like that, it’s not polite. 

3. It was far from the station and we&&.take a bus home. 

4. They &&.take every Friday off last year. 

5. I’d like&&.play chess. 

6. I think I’ll&&.go and buy some bread for the dinner. 

7. The boy &&.drive my car if he passes his exam. 

8. They were told that they &&.continue the research work. 

9. On his way he&&&cross a narrow wooden bridge over a stream. 

10. I’m sorry but I&&..come to your place next Sunday. 

6.  4;O7D4=F9 8<4?B7 6 7DGCC4I 
Fox: Since our main objective is to gain market share, I believe we must first    of all reduce 

our prices. 

Brown: But if we reduce prices that will cut our profits. 

Fox: That's right, but we can slowly increase production, which will eventually enable us to 

cut unit costs. 

Smith: That's really a long-term prospect. Unit costs can only come down if we invest in 

new plant and machinery. I personally think we should go for higher profitability. If we 

upgrade the product, we can charge higher prices and get larger profits. 
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Fox: Look, the market is already very competitive. If we increase prices, whatever the 

quality, the market will immediately respond and sales will drop rapidly. But if we reduce 

costs in manufacturing, that will put us in a strong position to adapt to the market. 

 

 

ВOCB?A9A<9 BJ9ABKAB7B ;484A<S (D45BF4 6 7DGCC4I) 
 

Give definition to: 

"5EG8<FP 6 7DGCC4I (CB 4 K9?B69>4) < 84FP BCD989?9A<9 >4:8B@G F9D@<AG: 
 

Gross profit, assets, fixed assets, liability, a long-term plan, a short-term plan, cash transaction, 

to meet requirements, profit and loss account, balance sheet,  business promises, to provide 

promises, to sell own goods, to summarize these facts, a loss of money, to transfer  

 

&9@4 1.5 «�9?B6B9 B5M9A<9» 
 

ВOCB?A9A<9 BJ9ABKAB7B ;484A<S (C<EP@9AAB) 

 

Read and translate the text in writing. 

#DBKF<F9 F9>EF < B;47?46PF9 97B. �OCB?A<F9 C<EP@9AAO= C9D96B8 F9>EF4 (CB 
64D<4AF4@). 
 

                                   �4D<4AF 1  
In the United States, commercial banks are classified into two main groups. First, there 

are national banks, which are charted and supervised by the Federal Government. Secondly, 

there are state banks which are charted and supervised by the state in which they are operated. In  

either case, all commercial banks can make loans to borrowers. 

Commercial banks in major cities throughout the world such as Tokyo, Rio or Paris, 

cooperate with each other. In this way they can finance imports and exports between countries. 

When an importer buys merchandise from another country, he will usually pay for it the 

currency of that country. He buys this currency from the foreign exchange department of his 

bank. In the same way, when an exporter receives foreign money from sales to other countries, 

he sells this currency to his bank. By this method, the currency of any country can usually be 

exchange for that of any other. This system is called international exchange. 

 

 

 

 

                         �4D<4AF 2 

 

Accounting provides a financial picture of a business firm. An accounting department 

records and measures the activity of a business and reports on the effects of these transactions on 

the firm’s financial condition. Accounting records and reports provide data that are used by 

management, stockholders, creditors, independent analysts, banks and government. 

The income statement and balance sheet are the two types of records that most businesses 

prepare regularly. By reading these statements, one can identify how money was received and 

spent by a company. By analyzing these records, one can determine whether or not the activities 

of the company have been good for it. 

 

One major tool for the analysis of accounting records is ratio analysis. A ratio analysis is 

the relationship of two figures. There are three main categories of ratios in finance. One such 
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ratio deals with profitability. The main example of this is the Return on Investment Ratio, which 

is the most widely used single measure of a firm’s operating efficiency. 

A second set ratios helps a company evaluate its current financial position. These ratios deal with 

assets and liabilities. A third set of ratios deals with the overall financial structure of the 

company, primarily analyzing the value of the ownership of the firm. 

. 

 

&9@4 1.6  «1>BAB@<>4» 
 

ВOCB?A9A<9 BJ9ABKAB7B ;484A<S (C<EP@9AAB) 
 

1.     �ECB?P;G=F9 E?B64 <this list, this lists, these lists, these list= 6     CD98?B:9A<SI < 
C9D9698<F9 <I 

1. We should enter all city banks in&&&&&&&.. . 
2. Here is a document. &&&&&&.new services we offer. 
3. Who have you made&&&&&&for? 
4. Study the new regulations. &&&&&&&..all our potential customers we can make 

loans to. 

 

2. �ECB?P;G=F9 <have to= 6@9EFB<it is necessary=. 

                     B89?P: It is necessary for you to work hard. 

                                  You have to work hard. 

1. It will be necessary for you to see a doctor. 

2. It is necessary for him to borrow more money. 

3. It is necessary for you to make so much noise? 

4. She said it was necessary for us to look over the financial situation. 

5. It was necessary for the bank to charge more interest on the loans. 

 

1. �ECB?P;G=F9<must= 6 CD98?B:9A<SI < C9D9698<F9 <I. 
 

 B89?P: I, personally, think he is an accountant. 

                                  He must be an ownership. 

1. I, personally, think he is a great banker. 

2. I, personally, think he is making big money. 

3. I, personally, think she is under twenty. 

4. I, personally, think he has received a loan. 

5. I, personally, think he has been recommended by his boss. 

 

2.  �;@9A<F9 HBD@O QF<I CD98?B:9A<=,  <ECB?P;GS Passive. 

                      B89?P: We must sell all these goods. 

                                   All these goods must be sold. 

1. You can borrow the money from a bank. 

2. I will send a message immediately. 
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3. This statement showed the company’s income. 
4. I told you he would receive the credit in time. 

5. We can issue a letter of credit for you. 

6. He has to deliver the letter himself. 

7. They must have made big money last year. 

8. They are discussing this problem now. 

 

3.  Н4C<L<F9 CD46<?PAGR HBD@G 7?47B?4: 

A) What has happened? 

     I just (receive) a letter from my brother Tim. He is in Austrelia. He (be) there for six months. 

Tim is an engineer. He is working for a big firm and he already (visit) a great number of 

different places in Australia. He just (buy) an Australian car and (go) to Alice Springs. 

 

B) What happened? What has happened? 

1. What&&&&&you (buy) yesterday? 
2. Up till now, he never (lend) me anything. 

3. &&&&&.you (burn) those old papers yet? 
4. He (fight) in Hungary in WW II. 

5. We just (win) the match. 

C) What happened? What had happened? 

1. After she (write the letter, she (go) to the post-office. 

2. After he (have) dinner, he (go) to the cinema. 

3. Before he (finish) his work, he (have) a good rest. 

4. When I (fasten) my seat belt, the plane (take off). 

5. I (know) him before I (enter) the institute. 

D) What would/could happen? 

1. I said she (can have) my car for the evening. 

2. He told me he (arrive) next week. 

3. She wrote that she (can sell) me her house. 

4. They promised that they (wait for) me in lunch. 

5. If you borrowed the money you (have to pay) back twice as much. 

 

4. Н4C<L<F9 7?47B?O 6 E>B5>4I 6 CD46<?PAGR HBD@G 
I (have) a letter from my sister yesterday. She lives in Canada. In her letter, she (say) that she (come) to 

England next year. If she (come), she (get) a surprise. We now (live) in a beautiful house in the country. 

Work on it (begin) before my sister (leave). The house (complete) some months ago. To be exact, we 

already (live) in it five months. In my letter I (tell) her that she (can stay) with us. The house (have) 

many large rooms and there (be) a lovely garden. It (be) a very modern house, so it (look) strange to 

some people. 

&9@4 1.7 « 9A98:@9AF» 
 

�OCB?A9A<9 >BAFDB?PAB= D45BFO 6 86GI 64D<4AF4I (C<EP@9AAB). 
�4D<4AF 1 

1. �DBK<F4=F9 F9>EF < BF69FPF9 A4 6BCDBEO.    
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A business may be privately owned in three important forms. These are the sole proprietorship, 

the partnership and the corporation. The sole proprietorship is the most common in American 

business. More than 80 per cent of all businesses in the United States are sole proprietorships. 

Sole proprietorships, however, do not do the greatest volume of business. They account for less 

than 16 per cent of all business receipts. What kind of business is likely to be a sole 

proprietorship? These small businesses are very often service industries such as laundromats, 

beauty shops, repair shops and restaurants. 

 

1. What are three ways that a business can be privately owned? 

2. What form do most American businesses have? 

3. What form do most businesses in Russia have? 

4. Do sole proprietorships make the most money – that is do they have the greatest volume of 

business? 

5. List some businesses that are likely to be sole proprietorships. Why? 

6. List some businesses that are not likely to be sole proprietorships. Why? 

            2. �9D9698<F9 E?B64 A4 DGEE><= S;O>. 

asset, board of directors, debt, financing, liability, receipt, tax, common, to be interested in, to be 

responsible for, to account for, to be likely to be, to deal in, to manufacture, to fail, to take care 

of, to put into effect, to decide on, to make the decisions, to seem determined, to go into business 

 

              3.  ДBCB?A<F9 CD98?B:9A<S E?B64@< <; F9>EF4. 

1. You will have unlimited ( BF69FEF69AABEFP). 
2. Who controls ( CD<5O?<)? 

3. Do you know of a good (5GI74?F9D)? 

    4. Is he responsible for all (8B?7<) of his business? 

    5. There are many advantages to having (98<AB?<KA4S EB5EF69AABEFP). 

4. ВO59D<F9 B8<A 64D<4AF C9D96B84 

1. 98<AB?<KA4S EB5EF69AABEFP 

a. sole proprietorship 

b. individual ownership 

c. personal ownership 

2. EB5EF69AABEFP 

a. ownership 

b. belongning 

c. property 

3. >BAFDB?<DB64FP CD<5O?< 

a. check up gain 

b. control profit 

c. inspect pay 

4. RD<8<K9E>B9 ?<JB 

a. legal entity 
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b. juridical person 

c. natural person 

5. ;4>BAABEFP 

a. lawfulness 

b. legality 

c. legitimacy 

 

5. ВO59D<F9 B8<A <; E<ABA<@B6 
1. <to control= means 

a. to inspect 

b. to check up 

c. to pay 

2. <to fire= means 
a. to dismiss 

b. to discharge 

c. to leave the service 

3. <to give= means 

a. to let 

b. to put 

c. to allow 

6. �4>BAK<F9 D4;89?<F9?PAO= 6BCDBE  
1.  It seems to be a good deal for both of us, &&&..? 

a. does it 

b. doesn’t it 
c. is he 

2. We hope to be in business for a long time,  &&&.? 
a. doesn’t it 
b. do we  

c. don’t we 
3. You’ve really become very knowledgeable about business, &&&&? 

a. haven’t you 
b. have you 

c. don’t you 
                                                         

                                                    �4D<4AF 2 
 

1. #DBK<F4=F9 F9>EF < BF69FPF9 A4 6BCDBEO 

A partnership is an association of two or more persons to carry on a business for  profit. 

 When the owners of a partnership have unlimited liability, they are called general partners. 

If one or more partners have limited liability , they are called limited partners. There may be a 

silent partner as well – a person who is known to the public as a member of a firm but without 

authority in management. The reverse of the silent  partner is the secret partner – a person who 

takes part in management but who is not known to the public. 

Any business can be operated as a partnership. There are partnerships in professional 

fields such as medicine, law, accounting, insurance and stockbrokerage.  Limited partnerships 

are a common form of ownership in real estate, oil prospecting, and the mining and quarrying 

industries, to name a few. 
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Partnerships are more advantageous than sole proprietorships if one needs multiple 

sources of capital or diversified management. Like sole proprietorships, they are easy to form, 

and often receive favored treatment by the government as well as tax benefits. 

There are a number of disadvantages to partnerships. One is unlimited liability. This means 

that each partner is responsible for all debts and legal responsibilities in connection with the 

business. Another disadvantage is that partners may disagree with each other. Complications can 

also arise with the death of a partner. For example, a share of a business could come into the 

hands of a less desirable associate. 

 

1. What is an important difference between a general partnership and a limited partnership? 

2. What is the difference between a silent partner and a secret partner? 

3. What are some professional fields in which partnerships are found? 

4. What are some businesses in which limited partnership is a common form? 

5. Discuss the advantages of partnerships? 

6. What are the disadvantages of a partnership? 

7. Which would you prefer for your own business, a partnership or a sole proprietorship? 

Why? If neither form would be suitable, explain why not.  

. 

2. �9D9698<F9 E?B64 A4 DGEE><= S;O>. 
 a sole proprietorship, I’d like some advice, to be interested in, have a good idea                                           
to learn about the responsibility, to go into business, to have a company with my name on I, to 

make the decisions, to control the profits, to form the business, to consult partners, Board of 

directors, to decide on, vacation, hours, salary, to hire, to fire                                                                 

 

3. ДBCB?A<F9 CD98?B:9A<S E?B64@< <; F9>EF4.  

1. (#4EE<6AO= C4DFATD) is the reverse of the secret partner. 

2. Any business may be operated as (C4DFATDEF6B). 
3. (�?<9AF) is always right. 

4. Shall I have any (?P7BFO)? 

5. (�8<AB?<KA4S EB5EF69AABEFP) are common in many service industries. 

6. Partners who do not work in the business can have (B7D4A<K9AA4S BF69FEF69AABEFP) 
7 . Has he any authority in (GCD46?9A<9)? 

8. Do you know that I (6?B:<?4) some amount of money in that business? 

9. My (>B@C4APBA) is very knowledgeable about marketing. 

10. We have combined our (89A9:AO9 ED98EF64) very well.   

 

4. ВO59D<F9 B8<A <; E<ABA<@B6 
1. <to issue= means 

a. to go out  

b. to leave 

c. to appear 

2. <to joint= means 

a. to connect 

b. to couple 

c. to link 

3. <To take care of= means 
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a. to worry 

b. to be anxious 

c. to be trouble 

5. �4>BAK<F9 D4;89?<F9?PAO= 6BCDBE   
1. I need to learn about the responsibilities of going into business, &&&..? 

a. needn’t I 
b. don’t I 
c. need I 

2.You can start or stop your business whenever you like, &&&.? 
a. can you 

b. can not you 

c. do you 

3. You have unlimited liability, &&&&? 
a. have you 

b. don’t you 
c. haven’t you 

 

 

Д<HH9D9AJ<DB64AAO= ;4K9F (6 6<89 >BAFDB?PAB= D45BFO) 
1. �9D9698<F9 F9>EF < BF69FPF9 A4 6BCDBEO 

A partnership is an association of two or more persons to carry on a business for  profit. 

 When the owners of a partnership have unlimited liability, they are called general partners. 

If one or more partners have limited liability , they are called limited partners. There may be a 

silent partner as well – a person who is known to the public as a member of a firm but without 

authority in management. The reverse of the silent  partner is the secret partner – a person who 

takes part in management but who is not known to the public. 

Any business can be operated as a partnership. There are partnerships in professional fields such 

as medicine, law, accounting, insurance and stockbrokerage.  Limited partnerships are a common 

form of ownership in real estate, oil prospecting, and the mining and quarrying industries, to 

name a few. 

Partnerships are more advantageous than sole proprietorships if one needs multiple sources of 

capital or diversified management. Like sole proprietorships, they are easy to form, and often 

receive favored treatment by the government as well as tax benefits. 

There are a number of disadvantages to partnerships. One is unlimited liability. This means that 

each partner is responsible for all debts and legal responsibilities in connection with the business. 

Another disadvantage is that partners may disagree with each other. Complications can also arise 

with the death of a partner. For example, a share of a business could come into the hands of a 

less desirable associate. 

 

 

. 

2.�9D9698<F9 A4 DGEE><= S;O> 

associate, benefits, enterprise, real estate, insurance,  oil prospecting, stockbrockerage, mining 

and quarrying industries, to name a few, favored treatment, authority, the reverse, less desirable, 

background, ordering stock, a good deal for both of us, contribute, equally shared, becomes 

technical, run a shop, knowledgeable about. 

. 

3. �B@9AS=F9 @9EF4@< 5G>6O < ;4C<L<F9 CB?GK9AAO9 E?B64 

Italcap, fitneseb, atesocias, somercut, vestin, nerpart, sockt, ourcesres, priseteren, gemenatman 
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4.!BEF46PF9 CD98?B:9A<S <; E?98GRM<I E?B6 
1.  the, we, have, combination, to, seem, right. 

2.  at, be, to, selling, she, seems, good. 

3. risky, seems, be, business, to, this. 

4. quite, along, get, to, seem, well, they. 

5. customers, shop, attract, their, seems, many, to. 

 

5. Н4C<L<F9 F9EF 

                                                          �4D<4AF 1 
 

 ВO59D<F9 CD46<?PAGR HBD@G 
 

1. My friend &&&&&&&..my business for a quite a while. 
a) has been financing,           b) has financed,                   c) finances  

2. I &&&&&&&&.already an accountant. 
a) hired                                    b) have hired                        c) has hired 

3. He &&&&&&&with his partner just now. 
a) is talking                                b) talks                                  c) has talked 

4. His secretary &&&&&&.. the letters every morning. 
a) mail                                        b) mails                                  c) will mail  

5. You opened a repair shop, &&&&&&&&&? 
a) don’t you ?                             b) didn’t you ?                    c) doesn’t you ? 
6. We &&&&&&&&&&.about your plan. 
a) are thinking                              b) think                           c) is thinking 

7. They managed to put their policies &&&&&&&effect quickly. 
a) in                                                  b) into                            c) to 

8. You decide &&&&&&&& your vacation, hours, salary, hiring, firing. 
a) into                                              b) on                               c) to 

9. You will have unlimited &&&&&&&&&. . 
a) responsibility                              b) liability                        c) duty 

10. Financing is usually &&&&&&&&&&&.. for a small business to get.. 
a) easy                                               b) difficult                        c) complicated 

11. Carol &&&&&&&& always in fashion for a long time. 

a) has been interested  

b) is interested in 

c) was interested in  

12. If you go into business alone, it’s called &&&&&&&&&&&&& . 
a) partnership 

b) sole proprietorship 

c) corporation 

13. You &&&& start or stop the business whenever you like. 

a)  must                                                 b) ought to                         c) can 

14. John doesn’t have to consult partners or a board of directors, &&&&&..? 
a)  have not he?                                     b) doesn’t he?                      c) does he?  

15. I feel I have to tell you about &&&. of the risks involved, too. 
a)  some                                                    b) any                                  c) few 
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16) They &&&&&&&.. for all their business debts. 
a)  is responsible                                      b) are responsible               c) to be responsible  

17. Does that mean that I have to declare personal bankruptcy, if the business &&&&&. ? 
a)  fails                                                       b) has failed                        c) fail 

18. You could lose personal &&&&&&. . 
a)  taxes                                                      b) liability                            c) assets  

 

KEYS: №1. 
1 4          10 6 
2 6           11 4 
3 E           12 6 
4 6           13 E 
5 6           14 E 
6 4           15 4 
7 6           16 6 
8 6           17 4 

      9 6           18 E 
 

 

                                                         �4D<4AF 2 
 

ВO59D<F9 CD46<?PAGR HBD@G 
1. They &&&&&&.. the same amount of money into the business. 
a) invested                      b) has invested                         c) invest 

2. The shop &&&&&&&&&&&.more customers. 
a) is attracting                         b) attracted                       c)  attracts 

3. They are responsible &&&&&.all debts. 
a) on                                 b) with                                       c) for 

4. The owner usually works in the firm &&&&&&&..? 
a) doesn’t he?                 b) don’t he?                                c) didn’t he?  
5. Being partners, we &&&&&&&&&.. each other. 
a) have trust                     b) to trust                                   c) have to trust 

6. Shall I have an &&&&&&&.? 
a) privileges?                    b) advantage                            c) benefits 

7. Did you both put the same amount of &&&&&.. into the business? 
a) money                            b) capital                                    c) resources        

8. John &&&&&&&&. that shop two year ago. 
a) buy                                   b) bought                                   c) buys         

9. He said that he &&&&&&&.them the letter the previous Monday. 
a) send                                 b) had sent                                 c) sent 

10. She is good &&&&..keeping the books and ordering stock. 

a) with                                    b) in                                          c) at   

11. I &&&&.. into business with my friend , Jean. 
a) go                                      b) went                                      c) is going   

12. We &&&&&&&&& any problems, although I suppose all business can be risky. 
a) hadn’t had                       b) hasn’t had                            c) haven’t had 
13. They &&&&&&.. great difficulty in obtaining finance. 
a) has                                     b) had                                        c) have had    
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14. Martin and Barbara &&&&&&&&&. their resources very well. 
a) combined                         b) has combined                         c) have combined 

15. A partner &&&&. contribute important services. 
a) can                                     b) must                                      c) has to 

16. He &&&&&&&&. from 8 in the morning till 5 in the afternoon. 
a) Is working                         b) was working                          c) is working 

17. Distribution &&&&& the process or system by which goods are sent from those who 
produce them to those who use them. 

a) is                                        b) are                                          c) to be         

18. You &&&&&&&.. very knowledgeable about business. 
a) have become                     b) became                                 c) has become 

19. The public &&&&.. him as a the member of the firm. 
a) know                                    b) have known                           c) knew 

 

KEYS: №2. 
1 E          10 E 
2 4          11 6 
3 E           12 E 
4 a          13 6 
5 c           14 E 
6 6           15 4 
7 4           16 4 
8 6           17 4 
9 6           18 4 

                       19 E 
 

 

&9@4 1.8. «�GI74?F9DE><= GKTF» 
 

ВOCB?A9A<9 BJ9ABKAB7B ;484A<S (C<EP@9AAB) 
 

Word dictation. %?B64DAO= 8<>F4AF. 
�4C<E4FP E?98GRM<9 CBASF<S A4 4A7?<=E>B@ S;O>9. 
 

�8<AB?<KA4S EB5EF69AABEFP, >BAEFDG<DB64FP B89:8G, <AF9D9EB64FPES, A4K4FP 
EB5EF69AAB9 89?B, <;GK<FP B5S;4AABEF<, 6B=F< 6 89?B, <@9FP E6BR H<D@G, CD<A<@4FP 
D9L9A<S, >BAFDB?<DB64FP CD<5O?<, BHBD@<FP 5<;A9E, RD<EF, >BAEG?PF<DB64FP 
C4DFATDB6, EB69F 8<D9>FBDB6, BFCGE>, K4EO D45BFO, CD<A<@4FP A4 D45BF, G6B?PASFP E 
D45BFO, A9B7D4A<K9AAB9 B5S;4F9?PEF6B, 8B?7, B5NS6<FP 54A>DBFEF6B, CDB7BD9FP, 
CBF9DSFP ?<KAO9 EK9F4, A4?B7B6O9 ?P7BFO, H<A4AE<DB64A<9, @4?O= 5<;A9E, 
59ECB>B<FPES B, 5GI74?F9D, EBEF46?SFP A4?B7<, >4EE<D, ;4CB?ASFP 5GI74?F9DE><9 
:GDA4?, K9>, >6<F4AJ<S, D4EC<E>4             

 

&9@4 1.9 « BS 5G8GM4S CDBH9EE<S» 
 

1. ВOCB?A9A<9 BJ9ABKAB7B F9EF4 (C<EP@9AAB).  !>4:<F9 6 C4EE<6AB@ ;4?B79 E?98GRM<9 
CD98?B:9A<S. 
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1. They will open the shop for business on Monday. 

2. Someone stole my car last night. 

3. They use a lot of olive oil in the South of Europe. 

4. They have invited us to have dinner with them at the Ritz Hotel. 

5. They make very good wine in Spain. 

6. You should keep the butter in the refrigerator. 

7. Nobody has ever seen the other side of the Moon. 

8. They made this film in Hollywood. 

 

2. Н4C<L<F9 CD98?B:9A<S 6 CDBL98L9@ 6D9@9A<, GK<FO64S EB7?4EB64A<9 6D9@TA 

 B89?P:  I know the price determines the number of sales. 

                I knew the price determined the number of sales 

1. They say he is interested only in the price and not in the extra services. 

2. He says they are going to introduce a new line of products. 

3. I think they can offer home delivery. 

4. He knows they provide the repair services. 

5. I am sure the demand will increase and our profits will expand. 

6. Everybody understands that the lower price has a favorable psychological effect. 

 

3. Н4C<L<F9 7?47B?O 6 E>B5>4I 6 CD46<?PAGR HBD@G < C9D9698<F9 CD98?B:9A<S 

1.  They (have) lunch in the company cafeteria. 

2. Accounting (provide) a financial picture of a business firm. 

3. We (receive) already your statement. 

4. They (total) accounts the whole week long. 

5. The department (receive) our report by the time I came. 

6. I (turn in) the report on my department tomorrow. 

7. She (compute) salaries for two hours already. 

8. The balance sheet (be) ready by the first of December. 

 

4. !>4:<F9 CB-4A7?<=E>< 

1.  !4L GKTFAO= BF89? E9=K4E ;4ASF. 
2. �4?P>G?SFBD – @BS CD464S DG>4. 
3. 3 A9 H<A4AEB6O= <AEC9>FBD. ' @9AS A9F B5M9= >4DF<AO. 
4. #B?474R, KFB 89?4 >B@C4A<< <8GF IBDBLB. 
5. �R5B= @B:9F CDB69D<FP CB?B:9A<9 >B@C4A<< CB H<A4AEB6O@ BFKTF4@. 
6. �4DC?4F4 A4K<E?S9FES E CB@BMPR >B@CPRF9D4. 
7. "5NSEA<FP @B:AB B8A<@ E?B6B@ – A4?B7<. 

 

&9@4 1.10 «�BDCBD4F<6AB9 H<A4AE<DB64A<9» 
 

ВOCB?A9A<9 BJ9ABKAB7B ;484A<S (C<EP@9AAB) 

 

Make the writing translation of the texts. 

�OCB?A<F9 C<EP@9AAO= C9D96B8 F9>EFB6 CB 64D<4AF4@. ";47?46PF9 F9>EFO. 
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�4D<4AF 1 

 

            Accounting provides a financial picture of a business firm. An accounting department 

records and measures the activity of a business and reports on the effects of these transactions on 

the firm’s financial condition. Accounting records and reports provide data that are used by 

management, stockholders, creditors, independent analysts, banks and government. 

The income statement and balance sheet are the two types of records that most businesses 

prepare regularly. By reading these statements, one can identify how money was received and 

spent by a company. By analyzing these records, one can determine whether or not the activities 

of the company have been good for it. 

One major tool for the analysis of accounting records is ratio analysis. A ratio analysis is the 

relationship of two figures. There are three main categories of ratios in finance. One such ratio 

deals with profitability. The main example of this is the Return on Investment Ratio, which is the 

most widely used single measure of a firm’s operating efficiency. 
A second set ratios helps a company evaluate its current financial position. These ratios deal with 

assets and liabilities. A third set of ratios deals with the overall financial structure of the 

company, primarily analyzing the value of the ownership of the firm.  

 

                            �4D<4AF 2 

 

Corporations need financing for the purchase of assets and the payment of expenses. The 

corporation can issue shares in exchange for money or property (sometimes referred to as equity 

funding). The holders of the shares together form the ownership of the company. Each share is 

represented by a stock certificate. This is negotiable, which means that it can be bought and sold. 

The value of the share is determined not only by the net assets divided by the total number of 

shares outstanding, but also by any particular rights it gives to shareholders. The greater the 

success of the company, the more value the shares usually have.  

A corporation can also get capital funds by borrowing. This is called debt funding. When 

corporations borrow money, they give notes or bonds, which are also negotiable. However, 

interest have to be paid out whether business is profitable or not. 

Management must consider both the outflow and inflow of capital funds in running the 

corporation. The purchase of inventory and supplies, or payment of salaries, results in an 

outflow. The sale of goods and services results in an inflow. In the long run, the inflow must be 

greater than the outflow to result in a profit. In addition, a company must deduct its costs, 

expenses, losses or bad debts, interest on borrowed capital and other items in order to determine 

whether its financial management has been profitable. The amount of risk involved is an 

important factor in determining fund raising and whether a particular corporation is a good 

investment. 

 

&9@4 1.11   «'EFDB=EF6B A4 D45BFG» 
 

ВOCB?A9A<9 BJ9ABKAB7B ;484A<S (C<EP@9AAB) 

1. Make the translation of these texts and do tasks to them. 

�5@5в548B5 A;54CRщ85 B5:ABO 8 вO?>;=8B5 7а4а=8S : =8< ?> ва@8а=Bа<. 
 

                                                         

                                                                     Text 1 

All products and services have prices. Price comparisons can be difficult to make because of 

consideration of credit terms, delivery, trade-in allowance, guarantees, quality and other forms of 

service. What price will produce the greatest profit over a long period of time? There is no way 

to really determine this price accurately. Is this price too high to produce a large volume? Too 
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low to cover costs? No other area of marketing operations has been more misunderstood and 

subject to so much bad practice. Many businesses pursue unsound pricing policies for long 

periods without becoming aware of it. 

Prices are determined in various ways. For example, agricultural prices (cotton, wheat) are 

decided in large central markets where forces of supply and demand exist. This is pure price 

competition. Industrial products prices (iron, steel, etc.) are decided by large companies. A few 

competing sellers control the amount and price of goods to large numbers of buyers. Although 

competition is the public goal for most businesses in the United States, most operate in imperfect 

competition. Prices are also set by the government, particularly for public utility services-

railroads, electricity, manufactured gas, bus services, etc. 

When demand increases, prices rise, profits expand and new investment is attracted. But we see 

that there are other factors involved. Prices are related to each other in various ways. Ultimately, 

everything is related in price, since the consumer can buy only so much and must pay for 

everything out of a particular, limited amount of money. 

 

2. Find in the text the equivalents of the following word combinations. 

�а948B5 в B5:AB5 Q:в8ва;5=BO A;54CRщ8х A;>в>A>ч5Bа=89. 

 

is taking over his father’s business; is introducing a new line of products; location; what prices to 
charge; price policy; emphasizes; encourages sales; extra services; home delivery; repair; vice 

versa; determines; to give a lot of thought; you price one item above the cost; higher priced 

items; for instance; instead of; even though; favorable effect; particularly; to introduce a product; 

to bring attention to; to compete with; newspaper ads; to try a product; that makes sense; to 

mention; high quality expensive items; to call attention to; approach for; jewelry department; 

designer fashions; price comparisons; because of consideration of; accurately; to cover costs; has 

been misunderstood and subject to; without becoming aware of it; prices are determined; 

various; prices are decided; cotton; wheat; forces; to exist; pure; iron; steel; the amount of goods; 

public goal; prices are set; railroads; new investment is attracted; factors involved; are related to 

each other; is related in; ultimately; to pursue policy; up to a point. 

 

3. Answer the questions. 

�Bв5BPB5 =а в>?@>AO. 

 

1. What makes price comparison difficult? 

2. Why would the seller be interested in the price that produces the highest volume of sales 

at lowest unit cost? 

3. What reason can you offer for many businesses following unsound pricing policies? 

4. How are agricultural prices decided? 

5. How are most industrial products priced? 

6. What is the difference between pure and imperfect competition? 

7. Why do you think the government sets the prices for public utility services? 

8. What is the role of supply and demand? 

1. In what way is everything related by price? 

2. How can you build a network of people interested in helping you? 

3. What is job counseling? 

4. Does it provide training and guidance? 

 

1. Make the translation of these texts and do tasks to them. 

�5@5в548B5 A;54CRщ85 B5:ABO 8 вO?>;=8B5 7а4а=8S : =8< ?> ва@8а=Bа<. 
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                                                    Text 2 

In the United States, commercial banks are classified into two main groups. First, there are 

national banks, which are charted and supervised by the Federal Government. Secondly, there 

are state banks which are charted and supervised by the state in which they are operated. In  

 either case, all commercial banks can make loans to borrowers. 

Commercial banks in major cities throughout the world such as Tokyo, Rio or Paris, cooperate 

with each other. In this way they can finance imports and exports between countries. When an 

importer buys merchandise from another country, he will usually pay for it the currency of that 

country. He buys this currency from the foreign exchange department of his bank. In the same 

way, when an exporter receives foreign money from sales to other countries, he sells this 

currency to his bank. By this method, the currency of any country can usually be exchange for 

that of any other. This system is called international exchange. 

 

2.Find in the text the equivalents of the following words and word combinations. 

�а948B5 в B5:AB5 Q:в8ва;5=BO A;54CRщ8х A;>в 8 A;>в>A>ч5Bа=89. 

 

To be anxious to do smth, to make one’s career in banking, to be familiar with, checking 
and saving accounts, safety deposit boxes, to offer services to, to be concerned with. To 

make loans, to charge interest for the service to request a financial statement, accounts 

receivable, assets and liabilities, income and expences, to be eligible for, a short term 

loan, to vary, letters of credit, credit reference letter, suppliers, prime rate, the lowest 

interest rate available, profits and earnings, which are charted and supervised, 

merchandise, in this way, international  

 

3.Find the definition for each term? 

�а948B5 7=ач5=85 : :а64><C B5@<8=C? 

 

1.career (n                        1. to provide money for 

2.eligible (adj)                  2. to bring in goods from a foreign country for sale or use  

3.export (v)                       3. the maximum credit allowed a buyer or borrower  

4.preferred (adj)              4. a bank account for the purpose of saving money, on which 

                                                           interest is paid 

5.finance(v)                        5. to send to another country for the purpose of selling   

6.import (v)                        6. the act of lending smth, lent 

7.insurance (n)                   7. an occupation or profession 

8.line of credit (n)              8. qualified to be chosen 

 9.loan (n)                             9. protection against risk or loss by means of a contract 

10.savings account (n)        10. to give more consideration to 

 

4. Arrange the following words in the sentences. 

!BEF46PF9 CD98?B:9A<S <; E?98GRM<I E?B6 
1. In, your, to, do, banking, make, you, career, hope? 

2. And, in, loss, expenses, a, statement, income, are, profit, company’s, and, shown, the. 

3. Loans, charge, does, how, these, bank, much, on, interest, the? 

4. That, can, a, line, is, amount, company, from, a, credit, the, money, of, borrow, bank, of, 

maximum, a. 

5. Of, interests, on, rate, the, amount, the, generally, prime, depends. 
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                  5.  Render the following into the English. 

!>4:<F9 CB-4A7?<=E>< 

 9AS ;B6GF �9AD<  <??9D. 3 :<6G 6 �9A69D9, �B?BD48B, A4 G?<J9 �?9=FBA, AB@9D 1490. 
3 FB?P>B KFB CD<AS? 89?B E6B97B BFJ4 < E9=K4E EFD4LAB ;4ASF. 3 D9L<? ;4CGEF<FP AB6O9 
<;89?<S, AB ED4;G 6B;A<>?< CDB5?9@O E GEF4AB6?9A<9@ J9AO. &4> >4> S 6C9D6O9 ;4AS?ES 
>B@@9DJ<9= E4@BEFBSF9?PAB, S, 9EF9EF69AAB, A9 G69D9A, >4>GR J9AG 6;<@4FP. #D<L?BEP 
B5D4F<FPES ;4 EB69FB@ > >B@@9DK9E>B@G >BAEG?PF4AFG $B8A< 'BFEBAG. $B8 – 8DG7 A4L9= 
E9@P<. "A BK9AP >B@C9F9AF9A 6 6BCDBE4I J9AB6B= CB?<F<><. % 97B CB@BMPR S CBCOF4?ES 
CBASFP ?B7<>G J9AB6B= CB?<F<><, IBFS QFB BK9AP FDG8AB. 
">4;O649FES, EGM9EF6GRF 864 F<C4 J9AB6B= CB?<F<><. �>J9AFA4S J9A4 CB8KTD><649F 
A<;>GR J9AG, >BFBD4S EF<@G?<DG9F CDB84:G, < A94>J9AFA4S  J9A4, >B784 6A<@4A<9 
CB>GC4F9?S A<>B<@ B5D4;B@ A9 CD<6?9>49F > J9A9. !94>J9AFA4S J9A4 CB8B=8TF 8?S A4L97B 
CD9>D4EAB7B R69?<DAB7B BF89?4 < BF89?4 @B8AB= B89:8O. +FB >4E49FES 4>J9AFAB= J9AO, 
FB 9T 64D<4J<<, F4><9 >4> J9A4 «?BEE-?<89D» <?< J9A4 «BHH-<6A» 69EP@4 CB8B=8GF 8?S 
B7DB@AB7B 5B?PL<AEF64 FB64DB6, 6 FB@ K<E?9 < 8?S AB6OI <;89?<=. *9A4 «?BEE-?<89D» 
B;A4K49F, KFB 6O A4;A4K49F9 J9AG KGFP 6OL9 E959EFB<@BEF< 6 A489:89, KFB CB>GC4F9?<, 
S6<6L<EP ;4 FB64DB@ CB ?BEE-?<89DAB= J9A9, 6B;@B:AB, >GCSF KFB-A<5G8P 9MT, AB G:9 CB 
5B?99 6OEB><@ J9A4@. *9A4 «BHH-<6A» CDB<;6B8<F BK9AP 5?47BCD<SFAO= QHH9>F, IBFS 6O 
CDB84TF9 FB64D KGFP ?< A9 CB FB= :9 J9A9, KFB < >BA>GD9AF, E>4:9@, CB 89,95$ 6@9EFB 90$. 
!9C?BIB CD<8G@4AB, CD4684? 
%4@B9 64:AB9, KFB AG:AB CB@A<FP CD< 66989A<< AB6B7B <;89?<S, QFB FB, KFB > A9@G A48B 
CD<6?9KP 6A<@4A<9. !48B A4K<A4FP E E4@B= A<;>B= J9AO, F. >. CD<8TFES >BA>GD<DB64FP E 
<;69EFAO@< <;89?<S@<. 1FB D4;. !G, 4 6B-6FBDOI, A48B BD74A<;B64FP IBDBLGR D9>?4@G 
K9D9; 74;9FG, D48<B, 6OEF46><. �R8< A9 B5D4FSF 6A<@4A<9 A4 AB6B9 <;89?<9, 9E?< 9@G A9 
84FP D9>?4@G. #BE?9 FB7B >4> CB>GC4F9?< 4CDB5<DGRF <;89?<9 < BAB <@ CBAD46<FES, 
@B:AB CB6OE<FP J9AG. "A< 5G8GF CB>GC4FP CBAD46<6LGRES @4D>G, 84:9 9E?< J9A4 
CB6OE<FES, >BA9KAB, 8B BCD989?TAAOI CD989?B6. 
 A9 >4:9FES, S 6ET-F4>< EG@9R D4;D45BF4FP CD46<?PAGR J9AB6GR CB?<F<>G, < BK9AP 
A489REP, KFB G @9AS 89?4 CB=8GF F4>:9 IBDBLB, >4> G BFJ4. �98P @474;<A BK9AP IBDBLB 
D4ECB?B:9A, 84 < E4@ CB E959 BK9AP IBDBL.  
                                                

6. Subjects for discussion and composition. 

"9@O 8?S B5EG:89A<S 

A. Methods of Advertising 

What sorts of people and organizations advertise? In what forms do their advertisements appear? 

Where does the money for these advertisement come from? How do advertisers use a knowledge 

of psychology to make their advertisements more effective? What examples of this can you think 

of? How truthful are advertisements? What can we do about untruthful ones? 

 

 

 

B. The Art of Persuasion 

Do you often try to persuade people to do certain things? Are you goog at persuading people, or 

not? Do you thing that one should use different approaches with different kinds of people when 

one wants to persuade them to do something? What do you think are the secrets of successful 

persuasion? What should one avoid? What approaches should one use for particular kinds of 

people?  

 



 32 

 

 

 

4. ("!� "*�!"+!/) %$��%&� ��3 #$" ��'&"+!"� �&&�%&�*�� 

 

&9@4 2.1   $4;89?O 8<EJ<C?<AO "�%1.03. �ABEFD4AAO= S;O> 6 CDBH9EE<BA4?PAB= 
89SF9?PABEF<  (1 >GDE 1-2 E9@9EFDO) 
 

                                       �BAFDB?PA4S D45BF4 № 1 
!4;A4K9A<9 
("% CD98A4;A4K9A 8?S BJ9A>< D9;G?PF4FB6 BE6B9A<S GK95AB= 8<EJ<C?<AO <ABEFD4AAO= 
S;O>. 
(BD@4 CDB@9:GFBKAB= 4FF9EF4J<< 

�<HH9D9AJ<DB64AAO= ;4KTF 
�4KTF CDB6B8<FES 6 6<89 >BAFDB?PAB= D45BFO. 
�B?<K9EF6B 64D<4AFB6 8?S B5GK4RM<IES – 1 

�D9@S 6OCB?A9A<S: 40 @<AGF 
�484A<S:  9EFB<@9A<S. �<8B6D9@9AAO9 HBD@O 7?47B?B6. �9>E<>4 CB F9@9. 
'@9A<S: KF9A<9 
 

                                         ����!�3 ��3 "�'+�2-��"%3 

 

            �484A<S >BAFDB?PAB= D45BFO 8?S >BAFDB?S GE6B9A<S 7D4@@4F<>< 

�BAFDB?PA4S D45BF4 CD98EF46?9A4 6 6<89 <FB7B6B7B ?9>E<>B-7D4@@4F<K9E>B7B F9EF4 E 
;484A<S@<, FD95GRM<@< 8BCB?A<FP CD98?B:9A<S < C9D969EF< <I A4 DGEE><= S;O>. 
�AEFDG>J<S CB 6OCB?A9A<R 

�A<@4F9?PAB CDBK<F4=F9 ;484A<9 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< 6O CB?GK49F9 1 54??. 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 20 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S – 40 @<AGF. 
 

�BCB?A<F9 < C9D9698<F9 CD98?B:9A<S A4 DGEE><= S;O>. 
Complete and translate the sentences into Russian. 

 

1. Each country has&&system of education. 
a) its                   b) it’s               c) it 
2. These students &&&.graduate from the college next year. 
a) were               b) are                c) will 

3. His parents sent&&&&to the grammar school. 

a) him                 b) his                 c) he 

4. Children&&&..secondary education at school. 

a) has got             b) gets                 c) get 

5. Many students &&&&&in hostels. 

a) live                   b) lives                c) to live 

6. Throughout &&&country there is a network of higher educational establishment. 

a) them                 b) their                c) theirs 

7. Comprehensive schools&&&&all types of secondary education.  
a) has combined   b) combined        c) combines  

8. The first university&&&.founded in 1755 in Moscow on the initiative of M.V. 

Lomonosov. 

a) to be                 b) was                  c) were 

9. Colleges&&&..different courses. 



 33 

a) offer                  b) to offer            c) is offering 

10. Some students failed&&&..entrance exams. 

a) ours                   b) their                 c) mine 

11. What departments&&&..there in your institution? 

a) are                      b) is                     c) were 

12. Our environment must be&&&.. . 
a) clean                   b) dirty                 c) fast 

13. Many species of animals live free of danger from man&&& 

a) homes                b) boxes               c) national parks 

14. Cars and factories&&&&the air. 

a) pollute                b) pollutes            c) is polluting 

15. Progress can be blamed in&&&problems. 
a) much                   b) many                c) little 

16. Air and water&&&.to all countries. 
a) belong                  b) belongs            c) belonged 

17. Our forests can die&&&&..acid rain. 

a) with                      b) to                      c) from 

18. Most of the&&&..are valued for fur. 

a) animals                 b) fish                   c) insects 

19. Using chemicals may &&& the cause of ecological pollution. 

a) be                          b) had                    c) are 

20. The construction of purifying systems helps to&&&.ecology. 
a) damage                  b) improve            c) to harm 

 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
;484A<S. 
 

"5BDG8B64A<9: F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
 

�<F9D4FGD4 8?S B5GK4RM<IES (ECD46BKA4S, @9FB8<K9E>4S < 8D.): 4A7?B-DGEE><= < 
DGEE>B-4A7?<=E><= E?B64DP. 
 

 

                             #���& #$�#"����&��3 

�B?<K9EF6B 64D<4AFB6: 1 
�484A<= 8?S B5GK4RM<IES: 20 
�D9@S 6OCB?A9A<S: 40 @<AGF 
 

�AEFDG>J<S CB 6OCB?A9A<R 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45O6 G>4;4FP AB@9D 
;484A<S. 
"5BDG8B64A<9: F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< – 1 54??. 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 20 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S: 40 @<AGF. 
�BCB?A<F9 < C9D9698<F9 CD98?B:9A<S A4 DGEE><= S;O>. 
Complete and translate the sentences into Russian. 

 

1 Each country has&&system of education. 
a) its                   b) it’s               c) it 
2. These students &&&.graduate from the college next year. 
a) were               b) are                c) will 
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3. His parents sent&&&&to the grammar school. 
a) him                 b) his                 c) he 

4. Children&&&..secondary education at school. 
a) has got             b) gets                 c) get 

5. Many students &&&&&in hostels. 
a) live                   b) lives                c) to live 

6. Throughout &&&country there is a network of higher educational establishment. 
a) them                 b) their                c) theirs 

7. Comprehensive schools&&&&all types of secondary education.  

a) has combined   b) combined        c) combines  

8. The first university&&&.founded in 1755 in Moscow on the initiative of M.V. 
Lomonosov. 

a) to be                 b) was                  c) were 

9. Colleges&&&..different courses. 
a) offer                  b) to offer            c) is offering 

10. Some students failed&&&..entrance exams. 
a) ours                   b) their                 c) mine 

11. What departments&&&..there in your institution? 
a) are                      b) is                     c) were 

12. Our environment must be&&&.. . 
a) clean                   b) dirty                 c) fast 

13. Many species of animals live free of danger from man&&& 

a) homes                b) boxes               c) national parks 

14. Cars and factories&&&&the air. 
a) pollute                b) pollutes            c) is polluting 

15. Progress can be blamed in&&&problems. 
a) much                   b) many                c) little 

16. Air and water&&&.to all countries. 
a) belong                  b) belongs            c) belonged 

17. Our forests can die&&&&..acid rain. 
a) with                      b) to                      c) from 

18. Most of the&&&..are valued for fur. 
a) animals                 b) fish                   c) insects 

19. Using chemicals may &&& the cause of ecological pollution. 
a) be                          b) had                    c) are 

20. The construction of purifying systems helps to&&&.ecology. 
a) damage                  b) improve            c) to harm 

 

�?RK<: 
 

1. a 

2. c 

3. a 

4. c 

5. a 

  

 

6. b 

7. b 

8. b 

9. a 

10. b 

11. a 

12. a 

13. c 

14. a 

15. b 

16. a 

17. c 

18. a 

19. a 

20. b 

 

,>4?4 BJ9AB> 

 

0-1 BL<5B> – 5 54??B6 
2-4 BL<5>< – 4 54??4 
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5-6     BL<5B> -   3 54??4 
7 < 5B?99 BL<5B> – 2 54??4 

 

 

 

                                                     �BAFDB?PA4S D45BF4 № 2 
 

!4;A4K9A<9: ("% CD98A4;A4K9A 8?S BJ9A><  D9;G?PF4FB6 BE6B9A<S 8<EJ<C?<AO: "�%1.03 
�ABEFD4AAO= S;O> 6 CDBH9EE<BA4?PAB= 89SF9?PABEF<. 

(BD@4 CDB@9:GFBKAB= 4FF9EF4J<<: 8<HH9D9AJ<DB64AAO= ;4KTF. 
�4KTF CDB6B8<FES 6 6<89 >BAFDB?PAB= D45BFO, >BFBD4S EBEFB<F <; 86GI K4EF9=. 
�B?<K9EF6B 64D<4AFB6 8?S B5GK4RM<IES: - 1 

�D9@S 6OCB?A9A<S – 50 @<AGF. 
�A4A<S: �D9@9A4 7?47B?B6.  9EFB<@9A<S. #D<K4EF<9 1. #D<K4EF<9 2. �AH<A<F<6. 
 B84?PAO9 7?47B?O < <I Q>6<64?9AFO. 
'@9A<S: KF9A<9 < CBA<@4A<9 CDBK<F4AAB7B. 
 

                                             ����!�3 ��3 "�'+�2-�)%3 

 

�BAFDB?PA4S D45BF4 CD98EF46?9A4 6 6<89 <FB7B6B7B ?9>E<>B-7D4@@4F<K9E>B7B F9EF4. 
 

�AEFDG>J<S CB 6OCB?A9A<R. 
 

�A<@4F9?PAB CDBK<F4=F9 ;484A<9. 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< 6O CB?GK49F9 B8<A 54??. 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – �4 C9D6B9 ;484A<9 – 19 

                                                               �4 6FBDB9 ;484A<9 - 14  

 

+4EFP 1. �BCB?A<F9 < C9D9698<F9 CD98?B:9A<S A4 DGEE><= S;O>. 
                Complete the sentences and translate them into Russian. 

 

1. You communicate with your computer with&&.. . 
a) the pencil                   b) the keyboard            c) the ball 

2. &&&&..the monitor allow to see the results of your work? 
a) Does                           b) Is                              c) Have 

3. The mouse works by&&&&.it around on a flat surface. 
a) sliding                         b) scratching                 c) smiling 

4. Computer technologies save &&&&time. 
a) much                            b) many                        c) none 

5. At present computers capable of performing billions of operations a 

second&&&.required. 
a) is                                   b) are                             c) was 

6. The size of a hard disk is measured in&&&& . 
a) centimeters                    b) megabytes                 c) volts 

7. Today the word <electronics= is in &&&&&.usage. 
a) negative                          b) rare                            c) general 

8. People waste a lot of time&&&&&..computer games. 
a) playing                            b) to play                        c) play 

9. There &&..many hardware pieces in a computer system. 

a) was                                  b) has                               c) are 

10. &&&..some programs be difficult to remember. 

a) Can                                   b) Was                             c) Is 
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11. Mobile telephones calls&&..a wide geographic area. 
a) cross                                  b) is crossing                    c) was crossing 

12. Office clerks&&&..and greeted each other after the weekend and discussed the 

weather. 

a) meet                                   b) is meeting                         c) met 

13. &&&&&..secretary is constantly answering phone calls. 

a) Theirs                                 b) Their                                 c) They 

14. I&&&&like to speak to Mr. Smith, please. 
a) should                                  b) would                               c) will 

15. A mobile telephone&&&&telephone calls. 
a) can make and receive        b) can sell                        c) can’t make and receive 

16. &&&&&is a standard way to send messages that include multimedia content to and 
from mobile phones. 

a) SMS                                   b) MMS                         c) Telephone call 

17. Does any office have phones? - &&&. 
a) No, she doesn’t                   b) Yes, she does             c) Yes, it does 
18. It &&&.necessary for a company to have good equipment. 
a) were                                     b) is                                c) will 

19. There are many different models of mobile phones in the world. 

a) Yes, you are right                  b) No, I can’t agree      c) This is known.  
some specialists only                                   

 

 

+4EFP2. #9D9698<F9 6OD4:9A<S A4 DGEE><= S;O>. 
               Translate the statements into Russian. 

 

1. B5D454FO64S <AHBD@4J<R 

a) processing information   b) the processed information  c) to process information 

2. @B7?< G6<89FP D9;G?PF4FO 

a) can see results                       b) were able to see results       c) was able to see results 

3. CD<ASFP F9?9HBAAO= ;6BAB> 
a) to receive the call                    b) receiving the call                 c) received a call 

4. >BC<DGS F9>EF 
a) the copied text                      b) is copying the text              c) copying the text 

5. 8B?:9A 5O? C9D9;6BA<FP 
a) must ring                              b) is to ring                              c) had to ring 

6. CBCD<69FEF6B64FP E9>D9F4DS 
a) to greet the secretary      b) greeting the secretary        c) greeted the secretary 

7. BF69K4S A4 F9?9HBAAO= ;6BAB> 
a) is answering the call       b) to answer the call               c) answering the call 

8. CBEO?4S EBB5M9A<9 
a) sent the SMS                   b) sending the SMS              c) are sending the SMS 

9. @B7 GEF4AB6<FP CDB7D4@@AB9 B59EC9K9A<9 
a) will be allowed to install software    b) will be able to install software c) was able to install 

10. CD98EF46<FP >B@C4A<R 

a) to represent the company     b) represented the company  c) representing the company 

11. E@B:9F GEF4AB6<FP 
a) could install                           b) will be able to install         c) is able to install 

12. <7D4S 6 >B@CPRF9DAO9 <7DO 

a) are playing computer games   b) playing computer games    c) was playing 

13. EB;84FP Q?9>FDBAAB9 GEFDB=EF6B 
a) to make gadget                         b) was to make gadget          c) making gadget 
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14. 8B?:9A 5G89F ;4CGEF<FP CDB7D4@@G 
a) has to start the program       b) will have to start the program   c) should start the program 

     

 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
;484A<S. 
"5BDG8B64A<9: F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
�<F9D4FGD4 8?S B5GK4RM<IES: 4A7?B-DGEE><= < DGEE>B-4A7?<=E><= E?B64DP              

 

                                          #���& #$�#"����&��3 

&<C ;484A<S: �FB7B6O= ?9>E<>B-7D4@@4F<K9E><= F9EF ;4 4 E9@9EFD, EBEFBSM<= <; 86GI 
;484A<=. 
�B?<K9EF6B 64D<4AFB6: - 1 

�484A<= 8?S B5GK4RM<IES: 1 K4EFP – 19 ;484A<= 
                                                   2 K4EFP – 14 ;484A<= 
�4 >4:8O= CD46<?PAO= BF69F: 1 54?? 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6: ;4 C9D6B9 ;484A<9 - 19 

                                                             ;4 6FBDB9 ;484A<9 - 14                                                          

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<=: 50 @<AGF. 
"5BDG8B64A<9: F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
�<F9D4FGD4 8?S B5GK4RM<IES: 4A7?B-DGEE><= < DGEE>B-4A7?<=E><= E?B64DP 
 

+4EFP 1. �BCB?A<F9 < C9D9698<F9 CD98?B:9A<S A4 DGEE><= S;O>. 
                Complete the sentences and translate them into Russian. 

 

      1 You communicate with your computer with&&.. . 
a) the pencil                   b) the keyboard            c) the ball 

2. &&&&..the monitor  allow to see the results of your work? 

a) Does                           b) Is                              c) Have 

3. The mouse works by&&&&.it around on a flat surface. 

a) sliding                         b) scratching                 c) smiling 

4. Computer technologies save &&&&time. 
a) much                            b) many                        c) none 

5. At present computers capable of performing billions of operations a 

second&&&.required. 
a) is                                   b) are                             c) was 

6. The size of a hard disk is measured in&&&& . 
a) centimeters                    b) megabytes                 c) volts 

7. Today the word <electronics= is in &&&&&.usage. 
a) negative                          b) rare                            c) general 

8. People waste a lot of time&&&&&..computer games. 
a) playing                            b) to play                        c) play 

9. There &&..many hardware pieces in a computer system. 
a) was                                  b) has                               c) are 

10. &&&..some programs be difficult to remember. 
a) Can                                   b) Was                             c) Is 

11. Mobile telephones calls&&..a wide geographic area. 
a) cross                                  b) is crossing                    c) was crossing 

12. Office clerks&&&..and greeted each other after the weekend and discussed the 
weather. 

a) meet                                   b) is meeting                         c) met 

13. &&&&&..secretary is constantly answering phone calls. 
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a) Theirs                                 b) Their                                 c) They 

14. I&&&&like to speak to Mr. Smith, please. 

a) should                                  b) would                               c) will 

15. A mobile telephone&&&&telephone calls. 
a) can make and receive        b) can sell                        c) can’t make and receive 
16. &&&&&is a standard way to send messages that include multimedia content to and 

from mobile phones. 

a) SMS                                   b) MMS                         c) Telephone call 

17. Does any office have phones? - &&&. 
a) No, she doesn’t                   b) Yes, she does             c) Yes, it does 

18. It &&&.necessary for a company to have good equipment. 
a) were                                     b) is                                c) will 

19. There are many different models of mobile phones in the world. 

a) Yes, you are right                  b) No, I can’t agree      c) This is known.  
some specialists only                                   

 

�?RK<: 
 

1. b 

2. a 

3. a 

4. a 

5. b 

6. b 

7. c 

8. a 

9. c 

10. a 

11. a 

12. c 

13. b 

14. b 

15. a 

16. b 

17. c 

18. b 

19. a 

 

,>4?4 BJ9AB>: 
 

0-1 BL<5B> – 5 54??B6 
2-4 BL<5>< – 4 54??4 
5-6 BL<5B> – 3 54??4 
7 < 5B?99 BL<5B> – 2 54??4 
 

 

+4EFP2. #9D9698<F9 6OD4:9A<S A4 DGEE><= S;O>. 
               Translate the statements into Russian. 

 

      1 B5D454FO64S <AHBD@4J<R 

a) processing information   b) the processed information  c) to process information 

2. @B7?< G6<89FP D9;G?PF4FO 

a) can see results                       b) were able to see results       c) was able to see results 

3. CD<ASFP F9?9HBAAO= ;6BAB> 
a) to receive the call                    b) receiving the call                 c) received a call 

4. >BC<DGS F9>EF 
a) the copied text                      b) is copying the text              c) copying the text 

5. 8B?:9A 5O? C9D9;6BA<FP 
a) must ring                              b) is to ring                              c) had to ring 

6. CBCD<69FEF6B64FP E9>D9F4DS 
a) to greet the secretary      b) greeting the secretary        c) greeted the secretary 

7. BF69K4S A4 F9?9HBAAO= ;6BAB> 
a) is answering the call       b) to answer the call               c) answering the call 

8. CBEO?4S EBB5M9A<9 
a) sent the SMS                   b) sending the SMS              c) are sending the SMS 

9. @B7 GEF4AB6<FP CDB7D4@@AB9 B59EC9K9A<9 
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a) will be allowed to install software    b) will be able to install software c) was able to install 

10. CD98EF46<FP >B@C4A<R 

a) to represent the company     b) represented the company  c) representing the company 

11. E@B:9F GEF4AB6<FP 
a) could install                           b) will be able to install         c) is able to install 

12. <7D4S 6 >B@CPRF9DAO9 <7DO 

a) are playing computer games   b) playing computer games    c) was playing 

13. EB;84FP Q?9>FDBAAB9 GEFDB=EF6B 
a) to make gadget                         b) was to make gadget          c) making gadget 

14. 8B?:9A 5G89F ;4CGEF<FP CDB7D4@@G 
a) has to start the program       b) will have to start the program   c) should start the program 

     

 

�?RK<: 
1. a 

2. a 

3. a 

4. c 

5. c 

6. a 

7. c 

8. b 

9. c 

10. a 

11. b 

12. b 

13. a 

14. b 

 

 

 

,>4?4 BJ9AB>: 
 

0-1 BL<5B> – 5 54??B6 
2-3 BL<5>< -  4 54??4 
4-5 BL<5B>  - 3 54??4 
6 < 5B?99 BL<5B> – 2 54??4 
 

 

 

 

 

 

&9@4 2.3 $4;89?O 8<EJ<C?<AO "�%1.03. �!"%&$�!!/� 3�/� � 
#$"(�%%�"!��0!"� ��3&��0!"%&� (2 >GDE 3-4 E9@9EFDO) 
 

                                        �BAFDB?PA4S D45BF4 № 3 
 

!4;A4K9A<9: ("% CD98A4;A4K9A 8?S BJ9A>< D9;G?PF4FB6 BE6B9A<S GK95AB= 8<EJ<C?<AO 
<ABEFD4AAO= S;O> (4A7?<=E><=). 
(BD@4 CDB@9:GFBKAB= 4FF9EF4J<<: 8<HH9D9AJ<DB64AAO= ;4KTF 
�4KTF CDB6B8<FES 6 6<89 >BAFDB?PAB= D45BFO. 
�B?<K9EF6B 64D<4AFB6 8?S B5GK4RM<IES: 1 
�D9@S 6OCB?A9A<S: 40 @<AGF 
�A4A<S: 'E?B6AB9 A4>?BA9A<9. �BCDBE<F9?PAO9 CD98?B:9A<S. %?B:AO9 E?B64. �9>E<>4 
CB F9@9. 
'@9A<S: KF9A<9 < C9D96B8 F9>EFB6 E CDBH9EE<BA4?PAB= A4CD46?9AABEFPR. 
 

                                     ����!�3 ��3 "�'+�2-��"%3 

 

           �484A<S >BAFDB?PAB= D45BFO 8?S >BAFDB?S GE6B9A<S ?9>E<>< 
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�BAFDB?PA4S D45BF4 CD98EF46?9A4 6 6<89 <FB7B6B7B ?9>E<>B-7D4@@4F<K9E>B7B F9EF4 E 
;484A<S@<, FD95GRM<@< 6O5D4FP CD46<?PAO= 64D<4AF <; CD98?B:9AAOI < C9D969EF< 
CD98?B:9A<S A4 DGEE><= S;O>. 
 

�AEFDG>J<S CB 6OCB?A9A<R: 
�A<@4F9?PAB CDBK<F4=F9 ;484A<9. 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< 6O CB?GK49F9 1 54??. 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 20. 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<S – 40 @<AGF. 
 

�O59D<F9 CD46<?PAO= BF69F. 
Circle the correct item. 

 

1. Accounting department .......... a financial picture of a business firm. 

a. provide 

b. provides 

c. have provided 

2. The accounting department .......... very busy. 

a. is 

b. are 

c. be 

3. I .......... in the report on my department. 

a. has already turned 

b. have already turned 

c. am already turned 

4. The balance sheet and profit and loss statement for this fiscal year .......... soon. 

a. must be ready 

b. can be ready 

c. should be ready 

5. The salaries .......... through the computer/ 

a. is done 

b. are done 

c. has done 

6. We have to keep the investors happy .......... ? 

a. doesn’t we 
b. don’t we 
c. haven’t we 

7. I don’t agree .......... you. 
a. with 

b. to 

c. in 

8. You can check out the assets and liabilities, net worth and profit position of the 

company .......... . 

a. in the financial records 

b. in the financial statement 

c. in the fiscal year 

9. How could we handle any volume in a large company-billing, sales, salaries 

.......... . 

a. without computers 

b. without bookkeepers 

c. without accountants 

10. You can identify how money .......... by a company. 
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a. were received and spent 

b. was received and spent 

c. are received and spent 

11. My calculator .......... my right hand. 

a. are 

b. to be 

c. is 

12. We .......... the investors happy, not to speak of creditors, unions and really 

everyone. 

a. has to keep 

b. have keep 

c. have to keep 

13. Speaking of finances are you the one who works on the .......... . 

a. assets 

b. paychecks 

c. taxes 

14. What is the big difference .......... my gross pay and my net take-home pay? 

a. in 

b. between 

c. into 

15. They .......... the shop for business on Monday. 

a. open 

b. has opened 

c. will open 

16. She looked so busy surrounded by so many ..........  

a. records 

b. reports 

c. statements 

17. The department .......... the report by the time we came. 

a. has received 

b. have received 

c. had received 

18. I’ve looked .......... it everywhere, but I can’t find it. 
a. after 

b. for 

c. at 

19. .......... is a value of a person or company after deduction and allowances. 

a. assets and liabilities 

b. net worth 

c. profit position 

20. The balance sheet .......... ready by the first of December. 

a. will have been 

b. is 

c. be ready 

 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
;484A<S. 
"5BDG8B64A<9: F9>EF, ?<EF, 5G@474, >B@CPRF9D. 
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                                            #���& #$�#"����&��3 

 

'E?B6<S 6OCB?A9A<S ;484A<S: 
"5BDG8B64A<9: >B@CPRF9D, F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< – 1 54??. 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 20. 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S – 40 @<AGF. 
 

 

�O59D<F9 CD46<?PAO= BF69F. 
Circle the correct item. 

 

0       1 Accounting department .......... a financial picture of a business firm. 

a. provide 

b. provides 

c. have provided 

1 The accounting department .......... very busy. 

a. is 

b. are 

c. be 

2 I .......... in the report on my department. 

a. has already turned 

      b. have already turned 

      c. am already turned 

3 The balance sheet and profit and loss statement for this fiscal year .......... soon. 

a. must be ready 

b. can be ready 

c. should be ready 

4 The salaries .......... through the computer/ 

a. is done 

b. are done 

c. has done 

5 We have to keep the investors happy .......... ? 

a. doesn’t we 
b. don’t we 
c. haven’t we 

6 I don’t agree .......... you. 
a. with 

b. to 

c. in 

7 You can check out the assets and liabilities, net worth and profit position of the company 

.......... . 

a. in the financial records 

b. in the financial statement 

c. in the fiscal year 

9. How could we handle any volume in a large company-billing, sales, salaries .......... . 

a. without computers 

b. without bookkeepers 

c. without accountants 

10. You can identify how money .......... by a company. 
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a. were received and spent 

b. was received and spent 

c. are received and spent 

11. My calculator .......... my right hand. 

a. are 

b. to be 

c. is 

12. We .......... the investors happy, not to speak of creditors, unions and really everyone. 

a. has to keep 

b. have keep 

c. have to keep 

13. Speaking of finances are you the one who works on the .......... . 

a. assets 

b. paychecks 

c. taxes 

14. What is the big difference .......... my gross pay and my net take-home pay? 

a. in 

b.  between 

c. into 

15. They .......... the shop for business on Monday. 

a. open 

b. has opened 

c. will open 

16. She looked so busy surrounded by so many ..........  

a. records 

b. reports 

c. statements 

17. The department .......... the report by the time we came. 

a. has received 

b. have received 

c. had received 

18. I’ve looked .......... it everywhere, but I can’t find it. 
a. after 

b. for 

c. at 

19. .......... is a value of a person or company after deduction and allowances. 

a. assets and liabilities 

b. net worth 

c. profit position 

20. The balance sheet .......... ready by the first of December. 

a. will have been 

b. is 

c. will be ready 

 

�?RK<: 

 

1. b                          6. c                         11. c                  16. c 

2. a                         7. a                          12. c                  17. c 

3. b                          8. c                         13. b                 18. b 

4. a                          9. a                         14. b                19. b 

5. b                         10. b                        15. c                 20. c 
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,>4?4 BJ9AB>: 
 

1-12 ;484A<= 69DAOI – 0-2 54??4 
13-15 ;484A<= 69DAOI – 3 54??4 
16-18 ;484A<= 69DAOI – 4 54??4 
19-20 ;484A<= 69DAOI – 5 54??B6 
 

 

 

                                                    �BAFDB?PA4S D45BF4 № 4 
 

!4;A4K9A<9: ("%  CD98A4;A4K9A 8?S BJ9A>< D9;G?PF4FB6 BE6B9A<S 8<EJ<C?<AO "�%1.03 
�ABEFD4AAO= S;O> 6 CDBH9EE<BA4?PAB= 89SF9?PABEF< (4A7?<=E><=). 
(BD@4 CDB@9:GFBKAB= 4FF9EF4J<<: 8<HH9D9AJ<DB64AAO= ;4KTF 
�4KTF CDB6B8<FES 6 6<89 >BAFDB?PAB= D45BFO. 
�B?<K9EF6B 64D<4AFB6 8?S B5GK4RM<IES: 1 
�D9@S 6OCB?A9A<S: 60 @<AGF. 
�A4A<S: �<8B6D9@9AAO9 HBD@O 7?47B?B6. %?B:AO9 E?B64. #D98?B7<. #D<K4EF<S. �9>E<>4 
CB F9@9. 
'@9A<S: +F9A<9 < C9D96B8 F9>EFB6 E CDBH9EE<BA4?PAB= A4CD46?9AABEFPR. 
 

                                ����!�3 ��3 "�'+�2-��"%3 

 

�484A<S >BAFDB?PAB= D45BFO 8?S >BAFDB?S GE6B9A<S ?9>E<>< < 7D4@@4F<>< 

�BAFDB?PA4S D45BF4 CD98EF46?9A4 6 6<89 <FB7B6B7B ?9>E<>B-7D4@@4F<K9E>B7B F9EF4 E 
;484A<S@<, FD95GRM<@< 6O5D4FP CD46<?PAO= BF69F <; CD98?B:9AAOI < C9D969EF< 
CD98?B:9A<S A4 DGEE><= S;O>. 
 

�AEFDG>J<S CB 6OCB?A9A<R: 
�A<@4F9?PAB CDBK<F4=F9 ;484A<9. 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< 6O CB?GK49F9 1 54??. 
�B?<K9EF6B F9EFB6OI ;484A<=: 44 . +4EFP 1 – 15 ;484A<= 
                                                             +4EFP 2 – 10 ;484A<= 
                                                             +4EFP 3 – 8 ;484A<= 
                                                              +4EFP 4 -11 ;484A<=. 
 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<= – 60 @<AGF. 
 

+4EFP 1. %BEF46<FP C4DO Q>6<64?9AFB6. 
                Choose the equivalents. 

 

1. CD98CD<SF<9 
2. C?4F9: 

3. K4EFAB9 CD98CD<SF<9 
4. FB64D<M9EF6B 
5. >BDCBD4J<S 
6. CB>GC>4 
7. A4?B7 
8. BF69FEF69AABEFP 
9. 8B?7 
10. CD<5O?P 
11. 4>J<BA9D 

a) investment 

b) debt 

c) enterprise 

d) profit 

e) tax 

f) payment 

g) responsibility 

h) partnership 

i) stockholder 

j) price 

k) proprietorship 
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12. >4C<F4?B6?B:9A<9 
13. J9A4 
14. EG@@4 
15. 4>J<S 

l) share 

m) corporation 

n) purchase 

o) amount 

 

+4EFP 2. �4C<L<F9 7?47B?O 6 HBD@4I CDBL98L97B CDBEFB7B 6D9@9A< <      CD<K4EF<S 
2. 

                  Put down the verbs in Past Simple and Participle II. 

 

1. to lose 

2. to get 

3. to obtain 

4. to declaire 

5. to sell 

 

6. to own 

7. to invest 

8. to hold 

9. to mean 

10. to buy 

 

+4EFP 3. !4C<E4FP G>4;4AAO9 6OL9 HBD@O 6 EBBF69FEF6GRM<I HBD@4I 
EFD484F9?PAB7B ;4?B74. 
Put down the verbs into Passive Voice. 

 

1. are investing 

2. was selling 

3. had obtained 

4. bought 

5. wick have issued 

6. will mean 

7. will get 

8. loses 

 

+4EFP 4. �BCB?A<F9 CD98?B:9A<S. 
                Complete the sentences. 

 

1. If you want to&&money go to the bank. 
a) get;              b) spend;             c) test 

2. He&&.a car last month. 
a) will buy;       b) bought;           c) get 

3. The shareholders don’t know what risks they are&&. . 
a) involves;        b) had involved;      c) involved 

4. There is no hope of getting the&&.. . 
a) loss;                b) profit;                  c) accounting 

5. At the meeting they&&&for the new director. 
a) involve;           b) vote;                   c) had 

6. Any company always &&& a  lawyer. 
a) need;               b) may;                   c) to be 

7. You&&&&pay taxes last month. 

a) can;                  b) had to;                 c) will give 

8. The corporation&&.. act like a person. 
a) may;                 b) were to;               c) are to 

9. They&&&..to combine their resources. 
a) have;                 b) has;                      c) will 

10. I&&&..obtain loan from your company. 

a) could;                b) might;                  c) am 

11. They&&.sell assets to pay debts. 
a) must;                  b) play;                    c) could 

 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
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;484A<S. 
"5BDG8B64A<9: F9>EF,  ?<EF, 5G@474, AB:A<JO. 
�<F9D4FGD4 8?S B5GK4RM<IES: 4A7?B-DGEE><9 < DGEE>B-4A7?<=E><9 E?B64D<. 
                    

 

                                     #���& #$�#"����&��3 

 

'E?B6<S 6OCB?A9A<S ;484A<S: 
"5BDG8B64A<9: >B@CPRF9D, F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
�B?<K9EF6B F9EFB6OI ;484A<=: 44 – +4EFP 1 – 15 ;484A<= 

                                                                +4EFP 2 – 10 ;484A<= 

                                                                 +4EFP 3 -  8 ;484A<= 

                                                                 +4EFP 4 – 11 ;484A<= 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<S – 60 @<AGF 
 

 

+4EFP 1. %BEF46<FP C4DO Q>6<64?9AFB6. 
                Choose the equivalents. 

 

16. CD98CD<SF<9 
17. C?4F9: 

18. K4EFAB9 CD98CD<SF<9 
19. FB64D<M9EF6B 
20. >BDCBD4J<S 
21. CB>GC>4 
22. A4?B7 
23. BF69FEF69AABEFP 
24. 8B?7 
25. CD<5O?P 
26. 4>J<BA9D 
27. >4C<F4?B6?B:9A<9 
28. J9A4 
29. EG@@4 
30. 4>J<S 

a) investment 

b) debt 

c) enterprise 

d) profit 

e) tax 

f) payment 

g) responsibility 

h) partnership 

i) stockholder 

j) price 

k) proprietorship 

l) share 

m) corporation 

n) purchase 

o) amount 

 

+4EFP 2. �4C<L<F9 7?47B?O 6 HBD@4I CDBL98L97B CDBEFB7B 6D9@9A< <      CD<K4EF<S 
2. 

                  Put down the verbs in Past Simple and Participle II. 

 

11. to lose 

12. to get 

13. to obtain 

14. to declaire 

15. to sell 

 

16. to own 

17. to invest 

18. to hold 

19. to mean 

20. to buy 

 

+4EFP 3. !4C<E4FP G>4;4AAO9 6OL9 HBD@O 6 EBBF69FEF6GRM<I HBD@4I 
EFD484F9?PAB7B ;4?B74. 
Put down the verbs into Passive Voice. 

 

9. are investing 

10. was selling 

13. wick have issued 

14. will mean 
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11. had obtained 

12. bought 

15. will get 

16. loses 

 

+4EFP 4. �BCB?A<F9 CD98?B:9A<S. 
                Complete the sentences. 

 

      1 If you want to&&money go to the bank. 
a) get;              b) spend;             c) test 

2. He&&.a car last month. 
a) will buy;       b) bought;           c) get 

3. The shareholders don’t know what risks they are&&. . 
a) involves;        b) had involved;      c) involved 

4. There is no hope of getting the&&.. . 
a) loss;                b) profit;                  c) accounting 

5. At the meeting they&&&for the new director. 
a) involve;           b) vote;                   c) had 

6. Any company always &&& a  lawyer. 
a) need;                 b) may;                   c) to be 

7. You&&&&pay taxes last month. 
a) can;                    b) had to;                 c) will give 

8. The corporation&&.. act like a person. 

a) may;                    b) were to;               c) are to 

 9. They&&&..to combine their resources. 
a) have;                     b) has;                      c) will 

10. I&&&..obtain loan from your company. 
a) could;                     b) might;                  c) am  

11. They&&.sell assets to pay debts. 
a) must;                        b) play;                    c) could 

 

,>4?4 BJ9AB> 

 

42-44 CD46<?PAOI BF69FB6 – 5 54??B6 
35-41 CD46<?PAOI BF69FB6 – 4 54??4 
20-34 CD46<?PAOI BF69FB6 – 3 54??4 
19 < @9APL9 – 2 54??4 
 

�?RK<: 

1 

1.c, 2.f, 3.k, 4.h, 5.m, 6.n, 7.e, 8.g, 9.b, 10.d, 11.i, 12.a, 13.j, 14.o, 15.l. 

 

2. 

    1.lost, lost 

    2. got, got 

    3. obtained, obtained 

4. declared, declared 

5. sold, sold 

6. owned, owned 

7. invested, invested 

8.held, held 

9.meant, meant 

10. bought, bought 

 

3. 

1. are being invested 

2. was being sold 

3. had been obtained 

4. was (were) bought 

5. will have been issued 

6. will be meant 

7. will be got 

8. is lost 
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4. 

1.a, 2.b, 3.c, 4.b, 5.b, 6.a, 7.b, 8.a, 9.a, 10.a, 11.a. 

 

 

 

 

�<F9D4FGD4 8?S CB87BFB6>< > F9>GM9= <  CDB@9:GFBKAB= 4FF9EF4J<< 

 

 

"EAB6A4S ?<F9D4FGD4: 

1.1 �H4A4EP964 ".�. �A7?<=E><= S;O>: 11 >?4EE. �4;B6O= GDB69AP/ ".�. �H4A4EP964, 
�.�. <I9964, �. .�4D4AB64, 8-9 <;8. EF9D9BF<C.  .: #DBE69M9A<9, 2021 – 199 E. (Rainbow 

English) + 1�% Znanium.com �B7B6BD № 5669 Q5E BF 10.01.2022 7.  

�BCB?A<F9?PA4S ?<F9D4FGD4: 

1.  �84AB64 �.(. �A7?<=E><= S;O> 8?S 5GI74?F9DB6 : Manual in Accounting|  �84AB64 
�.(., %>6BDJB64  .�. – 2-9 <;8., EF9D. –  .: (<?B@4F<E, 2013, 432E.  

2.  4AP>B6E>4S �.�. �A7?<=E><= S;O>: GK95AB9 CBEB5<9 / �.�.  4AP>B6E>4S,  BE>64 6 
�!($� –  , 2020. – 200E. – (%D98A99 CDBH9EE<BA4?PAB9 B5D4;B64A<9) 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 


